C2G

Complex gripper, flexible assembly End-Of-Arm-Tooling
Meg ARiH LKA -EOAT

@

ROBOTICS PARTS CATALOG

S :0-2675-8239

USEBN UIUABUINOSINSA DA | @ :ersmscemersose
NANDEE INTER-TRADE CO., LTD. | [ foseonenese

314,316,318,320,322 wraadunii 32 aunsunii w2 YjeiaRRL 1LAEMT NN, 10120 ¢ : marketing@nandee.co.th
sales@nandee.co.th



Stamp


E ip\]?\ﬁqﬁable of Contents

i—ﬂ*jx %Wﬁéf Profile‘ SUS Tube

i’y’ﬁ*ﬁ?ﬂ Stents Module 06-54
1R#A Quick Changer 55-104
cis ;EE.,H1¢ Grlp Module 105-193
'T
f[;;‘ = N
S5 7] Air Nipper 194-196
A ‘ \ \ E?ﬁgﬂ'ﬁ:Vacuum Module 197-233

Bﬂ'ﬁ: Accessory Components 234-251



%%I General Index

B, WNE

2 EEE

LY

te

P-BifF. NE
Profile, SUS Tube

PST-{NE
Sus Tube
Y/ Page 1

PCT-BRAF4EE
Carbon Fiber Tube
af8/Page 1

PEP-Al#t
Extruded Profiles
R#9/Page 2

PT-TEUIRRG
T-Nuts
Ta#8/Page 3

S-3ZZRtRA
Stents Module

SFP-EH7[E ER
Fixing Plate
f8/Page 6~8

SMB-1=4EE E 4
Module Fixed Part
H8/Page 9~39

SV-IR #3728
Vacuum Cups Bracket
TaHS/Page 40~44

SC-JhRiERE
Clamp Leg Connector
a9/ Page 45~50

SEA-SEEEH
Elbow Arm Connector
Wf8/Page 51~53

SBN-ERIEE}
Bush Nut
a8/ Page 54

Q-tRi
Quick Changer

QCA-EHzhikik
Automatic Quick Changer
RS/ Page 55~86

QC-EFFaniRik
Round Quick Changer
WY/ Page 87~98

SIP-RIGIZEZR

Quick Changer Connector
Taf8/Page 90~98

QCS-S R F iRk
Square Quick Changer
Taf3/Page 99

QCL-LFZFahthis
Manual Quick Changer
a8/ Page 100~102

QCA-SHBzhiRi
Automatic Quick Changer
A3/ Page 104

EEAMH

G-REAM
Grip Module

GMH-SHI%k
Cylinder Gripper
TR#3/Page 105~108

GMHZL2-jiF17k
Lengthen Parallel Gripper

Ta#8/Page 106

GMXQ-Sziga
Air Slide Table
RS/ Page 113~121

GR-7kO%k
Sprue Gripper

TS/ Page 122~164




?\?;I General index

GS-E Mz 28
Buffer Support
W8/ Page 171~172

GMP-1REE(IEE
Mould Positioner
RH8/Page 173

GN-S ¢tk
Pneumatic Needle Gripper
R#%/Page 175-177

GBD-&x k=%
Bulging Device
TAfB/Page 178~179

GF-Szpikig
Pneumatic Finger Gripper
A3/ Page 180~189

GO-Hzikig

One Finger Angular Pneumatic Grippers

RH8/Page 190

VSH-Ik#2
Vacuum Cups
T8/ Page 202~204

SAF-k 2
Vacuum Cups
TRf8/Page 205~206

VM-IkE& AL
Vacuum Cup Connector
WH8/Page 207~215

VF-£ B& R
Stem Suction Buffer Body
fg/Page 216~219

Compact-ETEAH
Vacuum Module
TRH8/Page 225~233

B 14

A-B

Accessory Components

e

AN

N-Szn8
Air Nipper

GT-HEARXSHE
Thrust Cut Nippers
TS/ Page 193~194

GTC-EE=HIZS
Temperature Regulator
a8/ Page 195

GT-IN#xE ]
Heating Cutter
Taf8/Page 196

B A

V-EZEEG
Vacuum Module

FGA-IRE
Vacuum Cup
Tf8/Page 197~201

ASC-E5&
Signal Boxes
RS/ Page 234

AJB-DE&E
Junction Box
af8/Page 235~238

ARJ-HEYRER
Miniature Regulator
A8/ Page 239

KQ2-5&#k
Hose Fitting
Taf8/Page 241~250

AH-5%
Hoses
RHY/Page 251




473z Parallel Gripper

%‘% 3 HE(PN)
.
%M m S GMHZ2-10S GMHZ2-16S GMHZ2-20S GMHZ2-25S GMHZ2-32S GMHZ2-40S
e G HIE(Model)
B D GMHZ2-10D GMHZ2-16D GMHZ2-20D GMHZ2-25D GMHZ2-32D GMHZ2-40D
c
o
® fIf2 Bore 10 16 20 25 32 40
EFAFRA Fluid 5 Air
L3z ]
(FFRES SEE(MPa)  Singleaction 0.35~0.7 0.25~0.7
xg Operati
perating pressure range  suem N N
g‘é % Doubleaction 0.2=0.7 0:1~0.7
i o N
;f% z TR FARE R
Hg Environment and fluid temperature e
c
o ESBE(mm)
Repeatability accuracy =001 =02
REEMME(C.p.m) 180 60
Maximum frequency of use
o #EA Action mode BA{EFS-T/ERE Single action - Double action
<
o | 1 . .
% ~ MEF*.(EI&.IE) . Tof s FF % Contactless magnetic switch
a) Magnetic switch (optional)
o " R
a B 042 Pipe Size M3x0.5 M5x0.8
©
B 53g 123g 2279 3099 4159 5439
E&(Weight)
D 52.5g 1209 2259 3149 410g 537g
3= O M o
ég [tER ] GMHZ2—
éﬁ =z Standard type
e & EFFH?EMLA-—‘,A :
ﬁ: c Sl o Parallel opening and closing type
® “10[10mm EI&
ad —[g— Bore AR
16{16mm Acti d
2- KIZAUR K1 — ction mode
2.Kth 20/20mm JE—
- read depth K1 = D[xwfEmt
(ﬁiﬁ?ﬂi‘%> q) _25]25mm Double action
ounting threa: _—
32j32mm S [EfemsteET)
% > 4- KIROUR K2 (Z2FIR3LD v _40[40mm __[Singleaction(Open)
V= 4-K thread depth K2 (Mounting thread) L
ﬂ z ?’EE'”L";?,?H(%%EE{E) g)h Y1 R3F 77 / Gripping forc;ﬁt’ : :
BU O - repared hole dia.@ roug N/ Gripping force N g
ﬁ'g (Mounting hole) Note) PS BSOFEXFANEME 9?(%&)&
= 1 @_ ):) _h:ﬁ L= Gripping force per finger Effective value mm
H Model IXEN(D EEN(S) | OpeninglClosi
Uy QI DK\C Double ac)tion Singlea(ct?on s"g::\(rég;‘hgiségg)
v - \,Q :(: Ll 9hMZE/External| #E/Internal |9MZ/External (om)
4}: _3} Cl GMHZ2-100 11 17 7.1 4
I
Q el GMHZ2-160 34 45 27 6
GMHZ2-200 42 66 33 10
N
s ofz c | B BB \z_ GMHZ2-250 65 104 45 14
zs2 gﬁ A D . GMHZ2-320 158 193 131 22
< ) 2- K IRL% K3 _
EE] |= E 2K thread depth K3 GMHZ2-400 254 318 217 30
ﬁ; z (REREIL) GMHZ2-100fIREIEFF X REER Y GMHZ2- OO B F X R FMR Y
o (Mountin th‘read) GMHZ2-100Magnetic Switch Mounting GMHZ2- 00 Magnetic Switch Mounting
g- #HEOSEH)* 9 Groove Dimensions Groove Dimensions
= Inlet Port S (Close) #HSOSE *
® 4-P §®B3|,4-P through Inlet Port S (Open) 4 82 - - A 4 6.2 - A
€2 =i E) 5 | FHERXIER BTSRRI
(Thread for mounting ) f=—=i| / Magnetic switch — Magnetic switch
} mounting groove mounting groove
M 5| /
By & 2 T e T [, 9
158 R < 8
& Q @
o U
<
A A%
g o J - J
° * RERRGE, —MBOEAFRIL. ) EABMFRE, TR A LUBFL R F) EAREMEFFX D-Y59 . D-Y69 K D-Y7
g * For single action, the port on one side is a breathing hole. Note) When using Magnetic switches, B, SMA A LUBFLRE
) . . throughhole mounting is not possible. Note) When using Magnetic switchesD-Y59, D-Y69.
3 RTJ;E(mm) Dimensions table D-Y7, throughhole mounting is not possible.
a
fI#Z(Bore) A B C D E F G H | J K K1 K2 K3 ol M N
10 6 23 12 37.8 57 29 16.2%  11.25; 438, 16 M3x0.5 6 5.5 6 2.6 27 211H9T 2
16 7.5 24.5 15 42.5 67.3 38 20.9% 14.93%: 8 24 M4x0.7 4.5 8 8 3.4 30 @17HIT 2
20 9.5 29 20 52.8 84.8 50 26.3% 16.33% 884 30 M5x0.8 8 10 10 4.3 35 @21H9T 3
25 11 30 25 63.6 102.7 63 33.33 19.3% 1035, 36 M6x1 10 12 12 5.1 36.5 @26H973.5
32 12 40(49) 29 67(76) 113(122) 97 487%° 26 35 125, 46 M6x1 10 13 13 5.1 48(57) @34H9T 4
40 15 49(62) 36 83(96) 139(152) 119 60 %" 30385 145, 56 M8x1.25 13 16 17 6.6 58(71) @42H9T 4
fIf2(Bore) O P Q R S T u \Y w X Y z Y1 Y2 AA BB CC DD  EE
10 11.4 M2.5x0.45 3 5.7 M3x0.5 23 9 19 5 5 11 @2H9T 3 16.4+005 522002 7 .6+002 18 12 - - -
16 16 M3x0.5 4 7 M5x0.8 30.6 7.5 19 8 fes 13 ?3H9T 3 23.6+00s 6.52002 11202 22 15 11.6 2.1 58
20 18.6 M4x0.7 5 9 M5x0.8 42 10 23 108 15 @4HIT 4 27.6+00s 7.52002 16.8%002 32 18 14 2.1 9
25 22 M5x0.8 6 12 M5x0.8 52 10.7 23.5 123 20 @4H9T 4 33.6+005 10 2002 21.8%002 40 22 19 3.5 1.5
32 26 M6x1 7 14 M5x0.8 60 1 31(37) 1580 24 @5H9T 5 4001 120w 23+0z 46 26 24 3.3 1.5
40 32 M8x1.25 9 17 M5x0.8 72 12 38(45) 18 80s 28 @5H9T 5 4801 14 *o 2Q0*o 56 32 29.4 3.7 13
FRERIESE P190 ) E)( ) IEIRSTAREMR T

For switch selection, please refer to page P191.

CRG

The size of the single action is within ().



IEFEITE Lengthen Parallel Gripper

1.Y09405 1.Y08175 1.Y09882 1.Y09883 D
E={(\)) e
“ 1.Y07974 1.Y08146 1.Y07975 1.Y08802 B
S GMHZL2-10S GMHZL2-16S GMHZL2-20S GMHZL2-25S %m 2
B E(Model) =G
D GMHZL2-10D GMHZL2-16D GMHZL2-20D GMHZL2-25D =
o
142 Bore 10 16 20 25 ®
R Fluid =5 Air
e
{FEES SEE(MPa)  Singleaction 0.35~0.7 0.25~0.7 S‘Zm
. EA
Operating pressure range . TIER 0207 01~0 zg )
oubleaction *“ 7
FERFARE S i H
Environment and fluid temperature o s
EERE(Mm) ®
Repeatability accuracy =00t
= ERME(c.p.m) 120
Maximum frequency of use
EFS L Action mode EA{ER-SUER Single action - Double action RO
: B
M&F*.(E‘rﬁ.ﬁ) . T B FF % Contactless magnetic switch a
Magnetic switch (optional) z
IS4 Pipe Size M3x0.5 M5x0.8 3
63g 1399 2189 3029
EE(Weight)
D 599 130g 211g 293g %o
— o
M (R | GMHZL2— 52
HS
N Standard type s
S Pl <
- ° Long Stroke type
e Bor
= ore ;MERR
Rt [ Action mode
(Z2Y) v 10{10mm J—
M ting thread s P
(Mounting thread) 16l16mm D %I{FE?EQ .
vi Sol2omm”~ | Double action s>
_ . N e S [BER=(EF) )
HssECae, A 25[25mm__|sigecion(Open E
LR B R3F 7 / Gripping force ﬁg
1 (Mounting hole) e LSJE | 3%/ N/ Gripping force N FEEE -
1 = o @ B S0 TR AWERE i)
— - —] 9[ _W\c$— L= Gripping force per finger Effective value mm
f=- r INEAH(D; (S Opening/Closi
- T N §§ / | g . Model Double(ac)tion Sinflzﬂa(ct%on S\Vgsgl(?m":i&dgg)
T ® o T Pt i §MZE/External | )1Z/Internal |hM&/External ()
"_ = GMHZL2-100 11 17 7.1 8
B | GMHZL2-160 34 45 27 12 BS
oz 5 GMHZL2-200 42 66 33 18 z=2
2l 8 N BB GMHZL2-250 65 104 50 22 78 3
o C A
NI z § i =
E 2 -KIREER K GMHZL2-100R MR ZHEER T GMHZL2- 00 B TR~ 9
2-Kthread depth K3 GMHZL2-100Magnetic Switch Mounting GMHZL2- OO Magnetic Switch Mounting c
(Motﬁféﬂiﬁad) Groove Dimensions Groove Dimensions )
#S0S() 4 62, N ~ ™
wp Inlet Port S (Close; HEOSEH 5 >
- . 12y 5
=R Inlet Port S (Open) - m "
(Mounting thread) t@} «
I i Sl — ail oL 10 i+ >
= =l = & 9| A ?E a
i ¢ : o PR 2
+ <
QR \_m 2 Q_ | o
of 1] " S
\4 w
s 3 DD 12 o
© ~ 6.2 ) S
. \ 22 J .
* BERRYSE, — EEOZERTIRTL £
* For single action, the port on one side is a breathing hole. ) ERAMMFXE , STATLUEFLRE 3E) ERABMFFX DY59. D-Y69 K D-YT ©w
Note) When using Magnetic switches, E;fv}lﬁm;ﬁﬁﬂ—lﬁ?bfﬁ hesD.150. DD
. . throughhole mounting is not possible. Note) When using Magnetic switchesD-Y59, D-Y69.
Rvﬁ( m m) Dimensions table D-Y7, throughhole mounting is not possible.
EI{2(Bore) A B C D E F G H | J K K1 K2 K3 oL M N
10 6 25(35) 12 37.8(47.8)  57(67) 35 19.2% 1123 4% 16 M3x0.5 6 5.5 6 2.6 29(39)  B11HIT 2
16 7.5  31(36) 15 452(50.2)  70(75) 47 26.9% 14.9% 53, 24 M4x0.7 45 8 8 3.4 36(41)  @17HOT 2
20 9.5 36(42) 20 58(64) 90(96) 62 34.3%  16.33. A 30 M5x0.5 8 10 10 4.3 43(49) @21H9T 3
25 11 40(50) 25 66.9(76.9) 106(116) 75 41.3% 19.38. 1035, 36 M6x1 10 12 12 5.1 48(58) @26H973.5
E1#2(Bore) O [ (e] R S T U \ W X Y 4 Y1 Y2 AA BB CcC DD EE
10 11.4 M2.5x0.45 3 5.7 M3x0.5 23 8 21(31) 5 8 11 B2H9T 3 16.4%00s 5. 2%0m 7 6o 18 12 - - -
16 16 M3x0.5 4 7 M5x0.8 30.6 8 25(30) 8 s 13 @2H9T 3 23.6%00s 6.5x002 11202 22 15 11.6 21 5.8
20 18.6 M4x0.7 5 9 M5x0.8 42 10 30(36) 10 8s 15 B4H9T 4 27.6%00s 7 5002 16.8%02 32 18 14 2.1 9
25 22 M5x0.8 6 12 M5x0.8 52 10 33(43) 1256 20 B4HIT 4 33.6%00s 10 x0:2 21.8=002 40 22 19 3.5 11.5
FFXIEFIESE P190 ;T ) ) ABIRT R BEEI R

For switch selection, please refer to page P191. The size of the single action is within (). .



Y B Y Type Gripper

B3y |, A

2qnL SNS . 3|!40id

HEE S A

3|NPOA SIUdIS

SR

J9bueyd ydoInd

T HE W
a|npo\ diig

b b2 |

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Yy

1.Y02014 1.¥02730
55 (PN)
“ 1.Y05738 1.Y04328
S

GMHC2-16S GMHC2-20S
#E(Model)

GMHC2-16D GMHC2-20D
#I1& Bore 16 20
fEFRFRA Fluid 2S5 Air
EAEN SEE(MPa) Sinﬁlﬁﬁion 0.1~0.6
Operating pressurerange  x{%F3
g A s Double action 0.25~0.6
RERRIREE -10~60°C
Environment and fluid temperature
%,%Eﬁﬁtbﬁﬁ(c.p.m) 180c.p.m
Maximum frequency of use
ESEE(mm)
L +0.01

Repeatability accuracy

S 99 167
E&=(Weight) 2 2

D 108g 1779

[FRER ] GMHC2—[20]

Standard type
STRFFIAEY

Bearing point opening and closing type

112
Bore EAT
Action mode
D [EMA
16|16mm Double action
i ) S |BEAR(EF)
FSOS () 20{20mm Singleaction(Open)

HSOTH),
Inlet Port T (Open)

E 4-KiBFLL

4-K Through hole for fastening L
. £ B
=

= & R
Of o —==
a8 2 -— - o a —
__ o 9 >
- L= 2,
= {) &
A B BB
c AA
D
2-N
IEX 0
< o
H
M

ZEOR
P PipeSize U V W X Z AA BB CC DD

S T

16 39 162 446 625 226 16 4

20 45 217 552 787 28 20 52

ZEIF IR S 0l
For switch selection, please refer to page P191.

o

7 24 M4X0.778 34

8 30 M5X0.8710 4.3

10.7 M4X0.778 16 M3X0.5 M5X0.8 7 183 8 13 17 236 15 306 22

15.7  M5X0.878 8.6 M4X0.7 M5X0.8 75 222 10 15 21 276 18 42 32



=JI\3Z Three Jaws Gripper

BS(PN) 1.Y04529 1.Y04764 1.Y05750

fir
5 (Model) GMHS3-16D GMHS3-20D GMHS3-25D M%
N
£I12 Bore 16 20 = o
{ERA Fluid =5 Air g7
o
{55 FAEJ5B Bl Operating pressure range 0.2~0.6MPa o
BRI RRE o
Environment and fluid temperature -10~60°C
EEHE(mm) %g
Repeatability accuracy =ol %’EE
— - =
S— SRR ERME(C.p.m) 120c.p.m h
Maximum frequency of use c
o
ZERA action mode Y{EFA Double action
IMERFF
;%)j‘;;o}%jj N External di;meter clamping 14 25 42
E30.5MPa WiETRE
Note) gripping force N internal diameter clamping 16 28 47 'H&O
L T T 21 3 RS
~
HR PR TR . 4 6 o
Standard finger stroke with hood 2
Q
KITEFIETIE 2
Long stroke finger stroke [t e 12
#E{ZRc Pipe Size M3x0.5 M5x0.8 %o
BAMEFF % Magnetic switch WEHFRE Built in magnetic ring type Z%g
=& Weight 59¢ 96.79 138g ﬁg
o
) FIFIMRRI RIS, ©16-0259% i mIEEL =20mmATRIEUE
Note)Clamping force when holding the outside diameter,
The value of the holding point of @16-@25 is L=20mm
olu MERU —_
22 NA [#REE ] GMHS3 = >
5|8 N Standard type g Z
SfS SE y BT
o ét\ k=S 73T
e RI 5 ° Bore 72
EE - 1 R
KE 16/16mm 4 Ction mode
D |W{EAR
ﬁgii;oove 20{20mm ;({);bk;éction
S AREF
N . 25|25mm Singleacti)n(Open)
3-SAME#L 3-SA Through hole for fastening
SB3fsk 7, T SC 3-SACounterbore J E <
0 Z=2
|l O iy Iﬂ ml o < 2 < ?ﬁfg
— “ L] |r_ o] ] i ZL_F =
© iy :
=
o © ®
) [sa]
#s0pen {1 @ 9 3
Inlet Port P (Open)
HSOP(F)
Inlet Port P (Close) o " l}ﬁﬁ
Iy g
N 3
&
3
el
o
=3
o
>

&I42(Bore) AA AB J K NA NB
16 35 32 10 4 8 5h9
20 38 35 12 5 10 6h9
25 40 37 14 6 12 6h9
FI4R(Bore) 0 P Q SA SB SC B UA UB VA VB WA XA XB
16 2 M3x0.5 6 34 65 8 5 M3x0.5 45  2H9 2 17H9  2H9
20 25  M5x0.8 7 34 65 95 6 M3x0.5 6 2H9 2 21H9  2H9
25 3 M5x0.8 8 45 8 10 6 M4x0.7 6 3H9 3 26H9  3H9

3
FFRIEFIESE P190 T
For switch ?election, please refer to page P191. CRG



FPTRIEFEsN=LINFE FPT Two-finger Translational Gripper

23
n3 Fr A% Features
5 o TS SEE T
T | e o BMEFRE
— o BRRFRIEO
oo o TR
%
5 g o —TFRGBHEHFIRIE
Zﬁg_ ® T-tooth guide rail. Compact structure and reliable
s I / ® Magnetic switch interface
® Proximity switch interface
gﬂﬁ, VTN . . Bl . ® Pipeless connection interface
Basic version Dustproof version High temperature version
o ® Ten million maintenance-free operations
e
2
¢ FARSE Technical Parameter
xQ we e #?‘E?ﬂi 9%#—*;73 Eif If‘j*rEfE %tﬁ%#‘é‘tﬁ!ﬁ %kiﬁ‘%?ﬁé% §’Ei1ﬂ§!§ 1P
I=hs Single finger stroke Gripping force SelfWeight | Workpieceweight| Longestfingerlength | Maximumsingle finger weight |Repeat positioning accuracy
HE (PN) (Model) (ke) (k) (mm) (mm) P
He 1.13289 FPT-40A-1 25 123 0.08 0.68 50 0.1 0.01 40
® 1.Y13290 FPT-40A-1-SD 2.5 123/132 0.11 0.68 50 0.1 0.01 64
1.Y13291 FPT-40A-1-TEM 25 123/132 0.08 0.68 50 0.1 0.01 40
1.Y13292 FPT-50A-1 4 140/145 0.15 0.77 64 0.18 0.01 40
1.Y13293 FPT-50A-2 2 290/310 0.15 1.60 58 0.18 0.01 40
5z 1.Y13294 FPT-50A-1-SD 4 140/145 0.18 0.77 64 0.18 0.01 64
éj]._ z 1.Y13295 FPT-50A-2-SD 2 290/310 0.18 1.60 58 0.18 0.01 64
54% 1.Y13296 FPT-50A-1-TEM 4 140/145 0.15 0.77 64 0.18 0.01 40
Zh 1.Y13297 FPT-50A-2-TEM 2 290/310 0.15 1.60 58 0.18 0.01 40
1.Y13298 FPT-64A-1 6 250/270 0.28 1.38 80 0.35 0.01 40
1.Y13299 FPT-64A-2 3 520/565 0.28 2.86 72 0.35 0.01 40
1.Y13300 FPT-64A-1-SD 6 250/270 0.35 1.38 80 0.35 0.01 64
1.Y13301 FPT-64A-2-SD 3 520/565 0.35 2.86 72 0.35 0.01 64
% § 1.Y13302 FPT-64A-1-TEM 6 250/270 0.28 1.38 80 0.35 0.01 40
?ﬁ § 1.Y13303 FPT-64A-2-TEM 3 520/565 028 2.86 72 0.35 0.01 40
15 2 1.Y13304 FPT-80A-1 8 415-465 0.5 231 100 0.6 0.01 40
= 1.Y13305 FPT-80A-2 4 860/960 0.5 4.73 90 0.6 0.01 40
o 1.Y13306 FPT-80A-1-SD 8 415/465 0.6 231 100 0.6 0.01 64
1.Y13307 FPT-80A-2-SD 4 860/960 0.6 4,73 90 0.6 0.01 64
1.Y13308 FPT-80A-1-TEM 8 415/465 0.5 231 100 0.6 0.01 40
e 1.Y13309 FPT-80A-2-TEM 4 860-960 0.5 4,73 90 0.6 0.01 40
1 é 1.Y13310 FPT-100A-1 10 660/725 0.81 3.63 125 1.1 0.01 40
g 1.Y13311 FPT-100A-2 5 1370/1500 0.81 7.54 115 1.1 0.01 40
i 1.Y13312 FPT-100A-1-SD 10 660/725 0.99 3.63 125 1.1 0.01 64
g 1.Y13313 FPT-100A-2-SD 5 1370/1500 0.99 7.54 115 1.1 0.01 64
§ 1.Y13314 FPT-100A-1-TEM 10 660-725 0.81 3.63 125 1.1 0.01 40
g 1.Y13315 FPT-100A-2-TEM 5 1370-1500 0.81 7.54 115 1.1 0.01 40
2 1.Y13316 FPT-110A-1 20 1050-1150 2 5.25 150 2 0.01 40
1.Y13317 FPT-125A-1 13 1080/1170 1.35 5.94 160 2.1 0.01 40
1.Y13318 FPT-125A-2 6 2240/2420 1.35 12.32 145 2.1 0.01 40
1.Y13319 FPT-125A-1-SD 13 1080/1170 1.55 5.94 160 2.1 0.01 64
1.Y13320 FPT-125A-2-SD 6 2240/2420 1.55 12.32 145 21 0.01 64
1.Y13321 FPT-125A-1-TEM 13 1080/1170 1.35 5.94 160 2.1 0.01 40
1.Y13322 FPT-125A-2-TEM 6 2240/2420 1.35 12.32 145 2.1 0.01 40
1.Y13323 FPT-160A-1 16 1640/1770 2.6 9.02 200 3.5 0.01 40
1.Y13324 FPT-160A-2 8 3200/3460 2.6 17.60 190 3.5 0.01 40
1.Y13325 FPT-160A-1-SD 16 1640/1770 3 9.02 200 35 0.01 64
1.Y13326 FPT-160A-2-SD 8 3200/3460 3 17.60 190 3.5 0.01 64

o



FPTRRIEERNZLINFE FPT Two-finger Translational Gripper

AT
o
p— - e i y—— 7=
g7 K H BHE IHEE BKFiEKE BABINFEEE ESFEURE 4 - ®
Single finger stroke Gripping force Self Weight Workpiece weight  Longest finger length Maximum single finger weight  Repeat positioning accuracy |P%'& %m (%]
(mm) (N) (kg) (kg) (mm) (kg) (mm) e %E
1.Y13327 FPT-160A-1-TEM 16 1640/1770 2.6 9.02 200 SE5) 0.01 40 g_
1.Y13328 FPT-160A-2-TEM 8 3200/3460 2.6 17.60 190 3.5 0.01 40 ®
1.Y13329 FPT-200A-1 25 2700/2870 5.2 14.85 240 6.5 0.02 40
1.Y13330 FPT-200A-1-SD 25 2700/2870 5.8 14.85 240 6.5 0.02 64
1.Y13331 FPT-200A-1-TEM 25 2700/2870 5.2 14.85 240 6.5 0.02 40 i A
©
1.Y13332 FPT-240A-1 30 4200/4440 8 21.50 280 8.5 0.04 40 77:‘"% 3
A= N
1.Y13333 FPT-240A-1-SD 30 4200/4440 11 21.50 280 8.5 0.04 64 Zﬁ <
o
1.Y13334 FPT-240A-1-TEM 30 4200/4440 8 21.50 280 8.5 0.04 40 o
1.Y13335 FPT-300A-1 85 6000/6260 135 33.00 300 11.5 0.05 40 ®
1.Y13336 FPT-300A-1-SD 35 6000/6260 17.5 33.00 300 115 0.05 64
1.Y13337 FPT-300A-1-TEM 35 6000/6260 135 33.00 300 L5 0.05 40
®re
23
| = hnvd Ry S, Q
BEmR Az 4 (F B W E) :
. . . . Q
Model explanation Optional accessories(see below for details) e
- zIN
SD Fh<EhR £0
-SD Dustproof version 1=k
— /s
TEM A frg
) ) BEFX M8 HIHEFFR M8 90°E s
-TEM ngh temperature version Proximity switch M8 Magnetic switch M8 AhE S E Rk
90° bend angle
Rotatable Hose Fitting
g2
iz
BID
Eche]
712
53
e
5
=
o
c
o
M2
e
S
<
)
o
3
o
=
®
2

CRG



FCT=18an=LIMFE FCT Three-finger Translational Gripper

fijn
ZE: oy e
e 5 Features
&5 o TASH SRR AR
d o BHEFFXED
o AT RIEN
. o FEtEREO
e §, o —TFRIRGHUEFIRIE
Zﬁg_ ® T-tooth guide rail. Compact structure and reliable
% ) (4 ® Magnetic switch interface
® Proximity switch interface
HAR Fr 4R = imhi ® Pipeless connection interface
Basic version Dustproof version High temperature version
o ® Ten million maintenance-free operations
]a
g
3 FARE%L Technical Parameter
me LT v%#ﬁﬁfi ES P BHE ITHES BRFEKE %j{%f%?‘éﬁ% E’E?Efﬁ*%)ﬁ P
;% o (PN) (Model) Single finger stroke Gripping force SelfWeight | Workpieceweight | Longestfingerlength | Maximumsinglefingerweight |Repeat positioningaccuracy e ratine
-E (N) (kg) (kg) (mm) (kg) (mm)
7 g 1.Y13338 FCT-40A-1 2.5 255/270 0.12 1.38 50 0.1 0.01
e 1.Y13339 FCT-40A-1-SD 2.5 255/270 0.15 1.38 50 0.1 0.01 64
® 1.Y13340 FCT-40A-1-TEM 2.5 255/270 0.12 1.38 50 0.1 0.01 40
1.Y13341 FCT-50A-1 4 325/355 0.25 1.76 64 0.18 0.01 40
1.Y13342 FCT-50A-1-SD 4 325/355 0.31 1.76 64 0.18 0.01 64
1.Y13343 FCT-50A-1-TEM 4 325/355 0.25 1.76 64 0.18 0.01 40
=x 1.Y13344 FCT-64A-1 6 580/640 0.43 3.19 80 0.35 0.01 40
)] iz‘ 1.Y13345 FCT-64A-1-SD 6 580/640 0.6 3.19 80 0.35 0.01 64
xS 1.Y13346 FCT-64A-1-TEM 6 580/640 0.43 3.19 80 0.35 0.01 40
R 1.Y13347 FCT-80A-1 8 1000/1080 0.79 5.50 100 0.6 0.01 40
1.Y13348 FCT-80A-1-SD 8 1000/1080 1 5.50 100 0.6 0.01 64
1.Y13349 FCT-80A-1-TEM 8 1000/1080 0.79 5.50 100 0.6 0.01 40
1.Y13350 FCT-100A-1 10 1800/1902 1.41 9.90 125 1.1 0.01 40
1.Y13351 FCT-100A-1-SD 10 1800/1920 1.9 9.90 125 1.1 0.01 64
% § 1.Y13352 FCT-100A-1-TEM 10 1800/1920 1.41 9.90 125 1.1 0.01 40
ZE § 1.Y13353 FCT-125A-1 13 3100/3330 2.8 17.05 160 2.1 0.01 40
ﬁ: z 1.Y13354 FCT-125A-1-SD 13 3100/3330 3.23 17.05 160 2.1 0.01 64
3 1.Y13355 FCT-125A-1-TEM 13 3100/3330 2.8 17.05 160 2.1 0.01 40
5 1.Y13356 FCT-160A-1 16 3100/3330 5.6 33.00 200 3.5 0.02 40
1.Y13357 FCT-160A-1-SD 16 6000/6390 6.5 33.00 200 3.5 0.02 64
1.Y13358 FCT-160A-1-TEM 16 6000/6390 5.6 33.00 200 45 0.02 40
1.Y13359 FCT-200A-1 25 7100/1540 11 39.05 240 6.5 0.05 40
By & 1.Y13360 FCT-200A-1-5D 25 7100/7540 12 39.05 240 65 0.05 64
" a 1.Y13361 FCT-200A-1-TEM 25 7100/7540 11 39.05 240 6.5 0.05 40
5 1.Y13362 FCT-240A-1 30 9500/10400 20 55.00 280 8.5 0.05 40
g 1.Y13363 FCT-240A-1-SD 30 9500/10400 21.5 55.00 280 8.5 0.05 64
3 1.Y13364 FCT-240A-1-TEM 30 9500/10400 20 55.00 280 8.5 0.05 40
§ 1.Y13365 FCT-300A-1 35 14500/15200 33 79.75 250 11.5 0.05 40
@ 1.Y13366 FCT-300A-1-SD 35 14500/15200  35.5 79.75 250 11.5 0.05 64
1.Y13367 FCT-300A-1-TEM 35 14500/15200 33 79.75 250 11.5 0.05 40
B SR a4 (F B W)
Model explanation Optional accessories(see below for details)
-SD B ahi
-SD Dustproof version
-TEM SRR
. . LT X M8 BMEFFR M8 90°51y SBEEDRHAG
-TEM ngh temperature version Proximity switch M8 Magnetic switch M8 AhEE S E Rk Elastic unloading
90° bend angle mechanism

o

Rotatable Hose Fitting



FCT=18Ea1=IMFE FCT Three-finger Translational Gripper

D
o
Bf#14 Accessory Components GE
PR %S FRRE ik me
Product image (PN) Product Model Description = Z:
c
“Kom, RIBRBL g
1.¥01631 E2E-XIRSE12M Wire lengthis2m, the end is bare ®
BHFFX M8 1.¥06553 E2E-XIR5F12M iy A
Proximity switch M8 Wire lengthis 2m, theendis bare
3z
S &S FRES R B3
Productimage (PN) Product Model Description ZE %
A2
£K3m, RFEREL =
HiMEFFX M8 Sy DHYRIEL Wire lengthis 3m, the end is bare ®
Magnetic switch M8
FmE RS FmES iR
Productimage (PN) Product Model Description 'H&Q
e
MBI A E A E % 2
L2 S-S 3 pins M8 Field wirable connector 2
MBET L IE Rz 2 Q
M8 wireable connector [}
FmE ®"s FRES R FmE ®"s FRES + O
Productimage (PN) Product Model Description Productimage (PN) Product Model ég
|z
1.¥13381 SL-040 B\
90EEZL, "
G1/88RarsEsk, o
1Y13156  KQ2V06.01As ~ SMMAEEEXImH L2 Si-0E
. 90 degree elbow,
G1/8threaded connector,
6mm Hose Fitting output 1.Y13383 SL-064
52
1.Y13384 SL-080 Ej] z
BUTO
0EBK, o
G1/8BariE, 1.Y13385 SL-100 PARS
1.Y13158 KQ2V08-01AS smmS E L
90 degree elbow,
00° 8 21/8 t:read;ft:?onne:tort, BRI 1.Y13386 SL-120
AhE S EREL mm Rose Fitting outpu Elastic unloading mechanism
90° bend |
Rotatabls?rlliogé1 iteting 1.Y13387 SL-160
23
=
90EF K, 1.Y13388 $L-200 EE £
GL/4BE Ik, i 2
1.Y13157 KQ2V06-02AS 6mmSE K H o
90 degree elbow, 1.Y13389 SL-240 o
G1/4threaded connector, o
6mm Hose Fitting output
1.Y13390 SL-300
e
a
<}
<
I
o
3
o
>
)
3
@

CRG



B3y |, A

3qnL SNS . 3|1404d

HEE e o Xt

3|NPOIA SIUdIS

S SE

J9bueyd ydoInd

Frm

a|npo\ diig

JaddiN 11y

B S

3|NPOIN wnndep

sjuauodw o) A10ssa20Yy

SHENBE GMXSZZF Air Slide Table GMXS Series

HT42(mm) D 6x2 @ 8x2 @ 12x2 @ 16x2 @ 20x2 @ 25x2
= Bore size (mm) (HH%T08) (HBETO11) (HBHETO17) (HHTFO22) (HHTFO28) (HHFD35)
‘ "_ e E?Eﬁﬁ'ﬂf M3 x0.5 M5 x 0.8 Re1/8
\ .- | {EFEA Fluid 25 Air
-
__/.-/\‘ HEF I Action SXEFE Double acting
e = 875 52 FlL /)
- Sfeitr -~ ﬁzximumoperaﬁng pressure 0.7MPa
\ S =K E D
% \. - - EI\%nimumuperatingpressure 0.15MPa
e Y R v R AR 10~+60° ; .
it e". x ,—’J.r _fjl. Ambienta;:iﬂuién;rnxperatures 10~ +60°C({8 K %4) (No freezing)
- = { —— & ZE & JE Piston speed 50~500mm/s
- -
e = £8)H Action BREXE M (#54) Rubber buffer (standard)
: 3838 Lubrication FREE Non-lube
GRS A TIEEE (0~5mm), *Optional with adjustable stroke device (0-5mm) e EEETEHISOVG32
MSETIRT, 2Ew D, RERE, *Double cylinder with 2 times output force, thin volume *ﬁfffus?ﬁfbfnfl\’l% 1 oil |SO°VG32 if need
SERTESEES, FREARTIE/N. *The combination of cylinder and worktable reduces the . .

RE+FRESNRI, BEAN, S overallsize »

STEaz aeasKEE, Eamsms *Roller slider design, small friction, no gap between
TN E ke - ! 7 cylinder and worktable, suitable for precise assembly
*WE&W&” uﬁf}"’?%ﬁﬁﬂ:* *Can install from 3 sides

*Built-in ring, can install magnetic switch
%% &K/ Selection table

— N =
| 1T#Estroke (mm) || THAREA]EIRF unctional options | | %ﬁﬁ%s%a
RS TR -
Bore size 10 20 30 40 50 75 100 125 150 ﬂiﬁﬂ%ﬁ% SHESAE M | THim e | |HEEE BHiERE
(mm) (0~5mm) With buffer | | Withend lock| [ Axial piping Install directly
245 3%
2-wire 3-wire
GMXS D-M9N
7 D-M9NL
D-M9B | D-MoNV
D-M9BL D-MONVL

D-M9BV | D-M9P
D-M9BVL | D-M9PL

D-M9PV
D-M9PVL
L=y o TR R AOHUAE BRI
Nodarm e GMxs[2- o[ [ -MsN] e
odel representation methods BEEFFSEA B SR RRT.
Number of Magnetic switches Eﬁiﬁﬁ*ﬂ%)ﬁﬁ,
== T 4 e —sam.
i {72 FOS | oA MSLEKERRCS:
s Bore Stroke e FieS-0.5m, L-3m,
S 0 -
Adju;:tg%:vlcs?: THECETEETR 1 | Z-5m.
L’N”? Vl\iithout adjuster Functional options n n™ 5): A96, A96L
e N e
AS /?dj’ﬁsteronextensionend Fics Nil V?:Vithoutadjuster HHFXEE Note)The specification and
SR ISR Magnetic switch characteristics of magnetic
AT [Adjusteronretractionend F With buffer FTicS | TR switch can refer to the series
A iRz R i Nil__| WithoutMagnetic switch of magnetic switch . At the
— fﬂgftemﬂ bothends With end lock HMFRBESSR LR end of the model of magnetic
*BS :ggrfggo%ﬁignsionend p iﬂi(riagl%i%ingtype « For the applicable Magnetic switch switch,the length mark of
T FEREEME . Eora ey models, refer to the table above. conductor is attached:
BT | Absorberonretractionend FR | Withbufferandendlock Nomark-0.5m,L-3m,Z-5m
. EREENE Fp | PEEENREEEE Example:A96,A96L
Absorberonboth ends With buffer, Axial piping type
*GMXS6TT R IEL =% *GMX SR #iE
*GMXS6 without hydraulic buffer *GMXS6 without locking
P =
SHERIEEHS =iEE. BENA
Combination of cylinder and worktable High precision, sturdy application
= - ; N ——
bl SREERIEE K IKzh B ahiR22 7]
worktable Picking and placement Heavy load Drive automatic
+ with high precision screwdriver
; SHBEGCMXS
SMRERE Air Slide Table GMXS
Guide Il:
+
ST
Cylinder

C=G



B4 GMXSZEF Air Slide Table GMXS Series

B EhiERE: Wke) E2 AHMEE: Ln(mm), FREROERBIZIEE: An(mm) Jo
Fig. (1) Load Mass: W (kg) Fig. (2) Overhang: Ln (mm), Correction Value of Moment Center Position Distance: An (mm) %Q
H[EIZSHR4EPItch moment {REESI5EYaw moment [E4&3%ERoll moment -
w me
c
s
) £
20,0 | g
i
=
—t— b
=
5 oA
g B3
@ 7B S
c
o
2]
Ey
b
2
N B o
B3 THZRRRE K g e
Fig. (3) Workpiece Mounting Coefficient: K ‘é’ 1 la)
g P, ! z
SERE L & < 2
Table mounting Lg
i) B20%E: HEDFENE Note) Static moment: Moment generated by gravity =
AR hEHPRAEERT, HhdETTERI Dynamic moment: Moment generated by impact when colliding with stopper
=1 BARIEFREL Emax()) B4 RiFEFRHRER B .
Table (1) Maximum Allowable Kinetic Energy: Emax (J) Table (4) Allowable Load Mass Coefficient: ;é >
K=1 SSModel i fci%}jj‘éﬁAllowable‘kineti(\: energy 10 %;
[ #4ZHRubber bumper | iREE T88Shock absorber AN 2o
SATRIRLE GMXS6 0.018 - 207 AN e
End plate mounting nEY )
GMXS8 0.027 0.045 2
GMXS12 0.055 0.1 Bos
GMXS16 0.11 0.22 We,,
GMXS20 0.16 0.32 % g
K=0.6 GMXS25 0.24 0.48 03
£33 —
e 5z
o . $£50.2 &z
; . *3 EPOMUEIEBEIEE: An(mm) B I
= =, = . B
§E2 Eikfﬁﬁ%qaﬁﬁk'ﬁi Wmax(kg) Table (3) Correction Value of Moment Center Position Distance : An (mm) \ﬂé 5 g
Table (2) Maximum Allowable Load Mass: 7] °
Wmax (k9) SsErpO IR IS TER) 0. 00 200300 500 700
= = Y EE‘: Correction value of moment center position distance (Refer to Figure 2.)| SFiCJJEfE Va mm/s
M%zl Miz(nﬁ%ltl%ovtfllﬁo}?d%ass M(Eel A1 A2 A3 A4 As As Average operating speed Va (mm/s)
GMXS6 0.6 GMXS6 11 6 13 16 16 6 @5 f[:‘ *r -
FIRREEL
GMXS8 1 GMXS8 1 7.5 13 20 20 7.5 Table (5)Allowable Mc:mem Coe%cient: N
GMXS12 2 GMXS12 24 8.5 26 25 25 8.5 10
GMXS16 4 GMXS16 | 27 10 30 31 31 10 ' AN =
GMXS20 6 GMXS20 34 14.5 36 38 38 14.5 07 AN f'_E 2
GMXS25 9 GMXS25 | 42 | 19 44 | 46 | 46 |19 I ZE
o ~ 205 s
x4 BARAIFIE: Mmax(Nem) %3, g
Table (4) Maximum Allowable Moment: Mmax (N-m) NLDJKL; ' %
me 172 (mm) Stroke (mm) ﬁ E 0.3
Mode 10 20 30 40 50 75 100 125 150 oy E
GMXS6 | 0.7 1.0 1.2 1.2 1.2 - - - - K302
GMXS8 2.0 2.0 2.8 3.6 4.2 4.2 = = = _g
GMXS12 | 4.2 4.2 4.2 5.8 7.0 10.0 10.0 - - < Mg =
GMXS16| 113 | 113 | 113 | 113 | 159 | 250 | 341 | 341 : 50 100 200 300 500 700 2
GMXS20 | 19.4 19.4 19.4 19.4 27.2 35.0 50.5 50.5 50.5 HYEE Vamm/s RERE V mm/s 3
GMXS25 | 30.6 30.6 30.6 30.6 42.8 55.1 67.3 67.3 67.3 Average operating speed Va (mm/s) Collision speed V (mm/s) <
e
iF) SEFHRE LT AR, (R R E A g
IS Note) Use the average operating speed when calculating static moment.
1E%§E Sy m b (o] | Use the collision speed when calculating dynamic moment. -§
iZESymbol £ M Definition BA7Unit JBESymbol £ Definition BA{37Unit o
JHERROMU B IEREIEE TYEE @
An(n=1-6) Correction value of moment center position distance mm Va Average operating speed mm/s
EIEE E &G
E Kinetic energy J w Load)n:assAE kg
FEVFlIRE VPP RERE
Ea AIIowabIZ kinetic energy J Wa AII.Lowable)lsad ;;!;s kg
RASEFEIRE PESERE
Emax Max. allowablz kinetic energy J We :\/Iass eﬁ\:;fm to impact kg
HMerE SASVFETRIRE
Lnn-=1-3) Overhang mm Wmax Max. allowabIeJlgad r)n\;!;s kg
B ESH. (R [IF%) . =4
M(Mp,My,Mr) Static moment (Pitch, Yaw, Roll) Nem o Toad factor B
FEVFRRIAE (. (R [EIF%) . FIFEPRERERE
Ma(Map,May,Mar) Allowabis stafic momant (Pitch, Yaw, Roll) N-m B Allowable Io)a:I ma:sieﬁicient -
F1JIRE (S, fREE) . FEFIIFERE
Me(Mep,Mey) Dynamic momeﬁl (Pitch, Yaw) Nem Y AH(l;wab\e moment coefficient 3
FEFEIIIRE (S, fRES) . BIRIHRE
Mea(Meap,Meay) Allowable dynamic mmoment(Pi(ch,Yaw) Nem 5 Damp’er coefficient B
RASF/IE(ESH. (R [5%) . THRERE
Mmax(Mpmax,Mymax,Mrmax) Max. allowable moment (Pitch, Yaw, Roll) Nem K Workpiece mounting coefficient 3
v IhEEE mm/s

ollision spee: CRG



@B Ea GMXSZEZ Air Slide Table GMXS Series

GMXS O EitE GMXS O Basic type

eMxs 8 gt GMXS 8 Basic type

i/
M2 2-M2.5x0.45424073 2-M3x0 542474
L] 2-M2.5x0.45 thread depth 3 2-M3x0.5 thread depth 4
e BEEOR = FEOR: 2-M5x0.8 = p—
£ 2-M3x0.5 k10 5 (R TR 55 3 Operati t2-M5x0.8 BR9.5 (RiR{TIE
% ; 6 Operating port 2-M3x0.5 Uﬁ%ﬁﬁ? T M2.5X0.45 2 7 perafing por - JHREE)
i Max. 9.5 (With strok
8— 2 |3 J | 5 Zd?:vs::r‘z{(ygﬁgcs:i?nk:nd) 3.5 </ J ) | 6 ad?}:steregl rletrasc;ioc:end)
DA | 1
o= - " N ZPN _ _ 3 el
RS s i —1
e e e e I W = S [ Fl=o
we 8 THE R 2z o [EE¥ RIS
783 =
= . : 3.8 7 2-M3x0.54285R%4
% @ 3 6.5\ 2-M2.5x0.450245R3 : M0 thrﬁ%ﬁ%ggmzz
5 § K 125 2-M2.5  0.45 thread depth 3 H K 14.6 41275, 100mmysaiiEzL)
Hg .
4-M3 x 0.542454
5 18 (BimfTiEiARees) @ 6 M 413 x 0.5 throad depth 4
(With stroke adjuster at
- " Stensionenty > 65 35
d 5 @\\\M | iy 17
= N < il
« S| pgd-
[ee] o
RO s 5 -
<. N 2
Hag z
2 Z . zz
[
2 zZ
© : BRI AR E
= E Stroke adjuster at extension end
B S s NMPOSEBERS  mwirEmmEE
Stroke adjuster at retraction end
% ] L l}r O
5 TR REEE ik b e
E; Stroke adjusér at extension end JEIRTIEREREE ) ? - Ei:“ﬁ
Z] o Stroke adjuster at retraction end B 2= e =L =
B3 S S & & )
e N oW =3t < | |3
= - x0.: rea €] fE 2 c i Ly L m E
» EL T O OHQ O 1 8 9 g
4 o % =
EhE SR RlEs: | [o 3 s
= L CH= — o I N g
e } : i g @3HI*3%% optn 3 F ® g =€
> iH © © /?Oi ] ,Q o | o o P N e £
> bes S - - _$ : N g 8 £
L B | 75 ) > g8 : 12 G Foge z
Ej] z H2e ®e o o ~
BID WHEE S HT § I I
% olEess F wn] 2 i 8 o
= ™ =g, (Rl TR E)
®3H9+g.025 ;,*-—\2 5 N [?i g- ;\E E 22 (With slrokefdjusteratexlensionend) (NN-1 )XH G
_— Y =~ Q ) § 2-M4x0. 782 8R6
@3H9'3 % deptn 2.5 11 <2 1>XF §o§ uﬁ% z-MAx)ész%gé?fns H
ol EE A B
11 5.5 % % Ké ' Fﬁ i
i - m N o H
< 3 LU 3 |
ol ~ H -
a2 @ (6} ﬁ S e S NSNS
= = HERS Do- B0 P
ﬁ 3 (NN-1)xH G : mi=
< i -~
S H : f
Q. H ! |
s NN-M4x0. 7425578 A B 5 A kB
_ 7HBLT :
® NN - M4 x 0.7 thread depth 8 F % :
SHTEAA F : 13 6.5 13 6.5
Section AA E 5 | :
Po @o® o o o) e m
> n 5.5 A& - T T H 52} o~
By 2 - £ P8 G} SIRS ~
%3 EW i i = e
» N H <
o Q :
§ - OR &
5 5 B 1 z K
3 i . . ‘
° : NN-M4x0.742555:8 EHEAA #mEBB
S N i/ NN-MX0.Tthread depth 8 e ction AA Section BB
3 #mBB
@ Section BB i R<% Dimensions (mm)
. . : e
R} Dimensions (mm) BE (Model) F N c] H NN
BE (Model) E N G H NN H GMXS8-10 25 4 9 28 2
e e T TR R B B
SMXSe-20 30 4 o s 2 i GMXS5-40 50 4 15 28 g
GMXS6-30 20 6 11 20 3 : GMXSB_SO 38 5 20 2
GMXS6-40 28 6 13 30 3 : GMXSS-75 = 5 > 23 5
GMXS6-50 38 6 17 24 4 : 28
i S (Model) [ J K M z 7z
ES (Model) | J K M Z ZZ . GMXS8-10 13 19.5 23.5 49 485 56
GMXS6-10 10 17 22.5 42 41.5 48 i GMXS8-20 8.5 29 33.5 54 53.5 61
GMXS6-20 10 27 2.5 52 1.5 58 GMXS8-30 9.5 39 43.5 65 64.5 72
GMXS6-30 7 40 42.5 62 61.5 68 : GMXS8-40 10.5 56 53.5 83 82.5 90
GMXS6-40 19 50 52.5 84 83.5 90 H GMXS8-50 24.5 60 63.5 101 100.5 108
GMXS6-50 25 60 62.5 100 99.5 106 GMXS8-75 38.5 96 88.5 151 150.5 158

cre




@B Ea GMXSZEA Air Slide Table GMXS Series

GMXS1 2 EitF GMXS 1 2 Basic type GMXS1 6 B GMXS1 6 Basic type A
2-M4x0. THELLRS 2-M5x0.842L6R5.5 = S v S
2M4x0.7 thread depth 5y /2. o Msy0.8 Bkl (B 3 qq AMESireaddopinss SRR 2-M540.8 gigig(ﬁiﬂﬁ{ﬁz 5
2 95 Operating port 2-M5x0.8 S Operating port 2-M5x0.8 3 ) ;
‘f%ﬁ%‘ o J | 10 Max. 13.5 (With stroke N ©
4.75 J | 8 adaj:sler(at rotraotion end) © 5.5 ‘ ‘ adjuster at retraction end) ﬁ 2
J— il =
© o~ e ® \r\ ; ﬁt &
- © - | hd [te}
7 ! Io & i .
Nl % - NEE
- ¢ | ﬂg; {1 té | G i
] n 7 - = 4 T_T] BN -
T eﬁfrﬁf - -
[LE 7f L,nf"w} 0
5 *2-M4x0. 7825585 A
L.lss “2-Mdx0.7 thrgi dagins \5.5 2-M5x0.BERETRS.5 ;-E 3
K 18.5 (57275, 100mm7gaMERL) ! 2-M5x0.8 thread depth 5.5 ok &
: K 21 *(FFETS. 100, 125mm#BAAEERL) 7@%
315 _ (AmTIRRRES) (R TRREREE) B3
(With stroke adjuster at 375 (With stroke adjuster at extension end) c
extension end) — o
™" AR 2-M5x0.8 BLLRS ’ 2-MBx18R5LR 10
1 \ 4% 2-M5x0.8 threaddepth & - ———gae 2- M6 x 1thread depth10
0| 8 M ml 10 M
o o
w n
I ; [ o)
g | . =i gl| [ S E g
] I!@J [ M ~
z 4 9
72 (@ ‘ 2
L3 Y74
5 20 %
TR R E - NP : BT E N-M5X0.8424576 TR
E#ﬂ{ajﬁjis«er tomansion end ’\l}l_;w ’\A/t%)SRhZe%%mssg E%{T*iﬂ:?%%ﬁ Stroke adjuster at extension end N—MSXSO,B (hr}a%?zem 5 Eﬂgﬁiﬂ%ﬁﬁem
. ol I T - 6 —_—
% N / &4 o %9
B et~ i 5 lbq s ‘UJ l ! ! crr—. E_ﬁ
Wis % © & S 2 £ f VS HE
o . | _S 2| | o o ‘ T g
Sl v - —Or=—O=© | & 3§ g ! I e
‘élgizé /‘J\v} N RN . %? ,tk)ég m@—@‘ ,’*‘7#@74 o o ﬂ{ﬂ]ll"% ©
elefl | Io < K: | ol | L2 S8
o s =0 2
S} “®iz | Vo ey % |
04H9 0735 F 4H9 OR35S 3R s \ ?‘E g
BAHI T s s <ﬂ -1>><F 4H9 *39% geptn 35 gi B5H9*9 %04 E S5H9 *0.030 34 3E §
16 2 : H @5H9*3%% geptn 4 H +3030 ! [In§ é
= 277 0 ey <ﬂ —1>XF 5H9 *3030 gepth 4 %2 /_=\‘ >
21 © |2 - %
9 s (NN-1)xH G E A
- H 12 6 (NN-1)xH G ﬁg
mm—— 11 4-Max0.THELGR B @
| | AMAOTRRES A e conb- | G0 s o —
= - 4-M5x0.8 thread depth 7
Vodet 1 - |- ] 1 | }_A }.ﬁ
f’ N |
ﬁ\ v 4 B;
g miN
GI Rale I2AWEN ,(@ = @) o (@ . N : {t
[—] & A4 '
DN N/ : 17 —_ 1
BIAS B’: \ : 0B 0—10—0
Sh H
SR Sl s i Hg
¥ A B : VO £
— — P A "B 283
5 24 105 == =
18.5 8.5 : 24 10.5 ‘ . g
H c
: © © o
P a2 2
S SIES) S
: e =
i & B %
: e
) ) : NN-MéxTi850%12  BHAA EEBB 3
NN-M5x0.84245510 EEAA #mBB : NN-Mox1 thread depth 12 Section AA Section BB <
NN - M5x 0.8 thread depth 10 Section AA Section BB : . . o
i R Dimensions (mm) S
R~% Dimensions (mm) | BEESEVEE) F N G H NN 3
R (Model) E N G H Y i GMXS16-10 35 4 16 40 2 ]
GMXS12-10 35 4 15 40 2 GMXS16-20 35 4 16 40 2 @
GMXS12-20 35 4 15 40 2 GMXS16-30 35 4 16 40 2
GMXS12-30 35 4 15 40 2 i _GMXS16-40 40 4 1 50 Z
GMXS12-40 50 4 17 25 3 i _GMXS16-50 30 6 21 30 s
GMXS12-50 35 6 15 36 3 | _GMXS16-75 55 g 28 35 4
GMXS12-75 55 6 25 36 4 gmzlglgg 65 6 ?2 22 g
GMXS12-100 65 6 35 38 5 : 2 7 3
7= (Model) I J K M z zz
S (Model) I J K M z e | GMXS16-10 10 40 29 76 75 87
GMXS12-10 10 40 26.5 71 70 80 GMXS16-20 10 40 39 76 75 87
GMXS12-20 10 40 36.5 71 70 80 GMXS16-30 10 40 49 76 75 87
GMXS12-30 10 40 46.5 71 70 80 GMXS16-40 10 50 59 86 85 97
GMXS12-40 10 52 56.5 83 82 92 GMXS16-50 15 60 69 101 100 112
GMXS12-50 22 60 66.5 103 102 112 GMXS16-75 40 85 94 151 150 162
GMXS12-75 43 85 91.5 149 148 158 GMXS16-100 55 118 119 199 198 210

GMXS12-100 52 130 116.5 203 202 212 H GMXS16-125 68 155 144 249 248 260
| c



B3y |, A

3qnL SNS . 3|1404d

HEE e o Xt

3|NPOIA SIUdIS

S SE

J9bueyd ydoInd

Frm

a|npo\ diig

b b2 |

JaddiN 11y

B

3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Yy

GMXS 25 =5t GMXS 25 Basic type

2-M8x1.250240G%8.5

. 6 2-M8x1.25 thread depth &};MD’Z S RUPTIS %j{’l 6,5( Dﬁﬁﬁ
(! 2-RC 3
OpE‘ra(ij\g port2 -( Rc)(PT)’I/B Uﬁg%ﬁ)
Max.16.5 (With stroke
o 8 J | 15 adjuster at retraction end)
T ]
= \ ‘ =
© H e D) i
o | Hlr]o ® |
T o b— =
T =
S SR o
N
8,118 *2-M8x1.254245058.5
K 31 *2-M8x1.25 thread depth 8.5
*(fTF2100. 125, 150mmg4Ng7L)
SR
54.5 ) ﬁi‘ﬂﬁgﬂffﬁnsmw
2-M8x1.254240K 15
2 - M8x 1.25thread depth15
] 15 M
o
| 8 o
z
y/4
BT E N-M6x19260R 13

Stroke adjuster at extension end

N-M6x1 thread depth 13
R TR R

| S—— B 7 © Stroke adjuster at retraction end
- o
oy} I
- . 5
ge, 5 ) b |z
3 | i &
1 s ®
Efrl | oo el gl Bt
wiiE %2 ! 2| ©
iz 2 ] |
zegs | A FF . @l 2
S © © ek
a*—f e
ol
06H9 376 F 6H9 "§9%0 3%6 7| g
B6H9"® gepine N 6H9 3930 epin 6 ~ %
B - -1>xF I 3
30 (2
22 7 (NN-1)xH G
re= F =7 6-M6X18ELR10 H
I | 6-M6x1 thread depth 10 A B
1 [ f f—
A

/= =H 38 L . . .
S&iBE GMXSZAS Air Slide Table GMXS Series
cMxs 20 =z GMXS 20 sasic type
2-MBx1824556.5 72 2.Re(PT)1/8 RA145(EIRTIE
3 .13, 5mexi thread deptn 6.5 {)%)E‘rla:(gﬁporl OB s R
Max. 14.5 (With stroke
6.5 J | 12 adjuster atretraction end)
el
[ } ‘ ©
3 bl @ D- ' ;
e —T] o
T T o
65 1 112 |\ *2-Mex1425556.5
K 25 *2-M6x1 thread depth 6.5
*({78100, 125, 150mmg4 ML)
(RIH TR E)
(With stroke adjuster at
46.5 _ extensionend)
2-M6x1 $240R13
‘Ql 13 M
o
0
) 3
B
Y4
pv4
RIR(TTRARER T
Stroke adjuster at extension end
N-M5x0. 84255810
1 N-M5x0.8 thread depth 10
g il } 6 o
th ! ! ! S —
@i | [ S 3 o L | 3
Moc 1 ! il s
o @ s
ey & @) ) _ ©| © s
olEi: | | /L2 _FEY N &
N i g
N (53 o © by
ke
o
O5H9 "G ORS F 5H9 *+0.030 3755 ® g
25198 Puepns N 5H9 *§-°3" depth 5 5
(7 —1>XF
27 2
18 6 (NN-1)xH G
N 3&“@?&3&?&%?3?3 8 A . B
] s S

! i A B
29 115 H 34 16 = k=
‘ H i 34 16
W : O L
- ©l = H ©O| «| =
- - H «~
8 @SE 3| & i 98 e @ W s
H ®
O
NN-M6x18856512 HEAA #mBB | NN-M8x1 25885516 BEAA #EBB
NN - M6x 1thread depth 12 Section AA SectionBB ! NN-M8x1. 25 thread depth 16 Section AA Section BB
R~f% Dimensions (mm) { R<% Dimensions (mm)
FIZ (Model) F FF N G H NN [ EE (Model) F FF N G H NN
M X 0-10 50 40 4 45 E M X -10 50 40 4 45
GMXS20-20 50 40 4 15 45 2 GMXS25-20 50 40 4 22 45 2
GMXS20-30 50 40 4 15 45 2 H GMXS25-30 50 40 4 22 45 2
GMXS20-40 60 50 4 15 55 2 GMXS25-40 60 50 4 22 55 2
GMXS20-50 35 35 6 15 35 3 ; GMXS25-50 35 35 6 20 35 3
GMXS20-75 60 60 6 19 35 4 GMXS25-75 60 60 6 26 35 4
GMXS20-100 70 70 6 37 35 5 ; GMXS25-100 70 70 6 32 35 5
GMXS20-125 70 70 8 41 38 6 GMXS25-125 75 75 8 40 38 6
GMXS20-150 80 80 8 19 44 7 H GMXS25-150 80 80 8 30 40 7
= (Model) ] J K M z zz | FE (Model) ] J K M 4 zz
GMXS20-10 10 44 31 83 81.5 o7 i GMXS25-10 12 47 35 92 90.5 108
GMXS20-20 10 44 41 83 81.5 97 GMXS25-20 12 47 45 92 90.5 108
GMXS20-30 10 44 51 83 81.5 97 i GMXS25-30 12 47 55 92 90.5 108
GMXS20-40 10 54 61 93 91.5 107 ! GMXS25-40 12 57 65 102 100.5 118
GMXS20-50 10 69 71 108 106.5 122 i GMXS25-50 12 70 75 115 113.5 131
GMXS20-75 10 108 96 147 1455 161 GMXS25-75 33 90 100 156 1545 172
GMXS20-100 58 113 121 200 198.5 214 GMXS25-100 50 114 125 197 195.5 213
GMXS20-125 70 155 146 254 252.5 268 i GMXS25-125 67 155 150 255 253.5 271
GMXS20-150 87 190 171 306 304.5 320 GMXS25-150 82 180 175 295 293.5 311

NV C=RG



S&1BE GMXSZ% Air Slide Table GMXS Series
INBE AL / Functional option

it
-+ Y
F- Hs@EEEh M
F-With buffer BEMEFF AT, SIfERTIE) 2-F 7
Magnetic switch z\g;ln?sallalzf%?i:noperatiun.) i@é
=
FiAa Magnet ) =
o
g & & o E
EHH' < { 4?@ 69@_ @ i
: : & © 4
o B a3
I ——| B c =2
g
WA Magnet G 5
w
BEMEFFR (W, ShERTE) )
Magnetic switch Normally OFF .
(ONis bufferin operation.) a
R- FIHEH - o
R-With end lock o
a
gEeE i J 1, 2K 2
Lock piston Spring / ;D
3 & & _ @ It _|
N & |
_m%» E&d — %o
L | o E_-B
VEES
a e
N & & & ®
7 . &
I $—@+——@
7 > > 3
2 z
ST L —H i)
| | -i 7] 2
" |
BHERS N M
Locked Unlocked
P- SIS E e ) ns
P-Axial piping type H|-& =g
r 283
2.p . | =
— o &
i 'é @ [ o s )
p—
[oef | & & &
EREEHE X ol A @
Spejﬁ é?)?troller E \ Y ?E §
(1 + (3
- - : E O
) ) & i Q a
oD B - i El
HO— _@ | B
® % 2 _KH: ]
L[ 5 @
T
[—
R% Dimensions (mm)
il
(Model) 75 100 125 150
GMXS6 24 10 28 19 0.5 M3x0.5 22 - - - - - - - - - - - - - - - 56 M3x0.5 55 12 32 8 115
GMXS8 30 12 285225 0.5 M4x0.7 225 65 9 39 44 55 73 91 141 - - - M3x05 10 155 3 6.5 M5x0.8 6.5 15 40 12 135
GMXs12 38 16 37 30 0.5 M5x0.8 29 9.5 10.5 59.5 59.5 59.5 71.5 91.5 137.5 191.5 - - M5x0.8 145 20 3 6.5 M5x0.8 9.5 20 50 12 18.7
GMXS16 48 20 41 37505 Méx1 30 12 13 62 62 62 72 87 137 185 235 - M5x0.8 18 25 3 6.5 M5x0.8 12 26 62 12 235

GMXS20 58 25 44545505 M6x1 305 15 155 68.5 68.5 685 785 93.5 132.5 185.5 239.5 239.5 Rc1/8 20 30 11.5 Rc1/8 15 32 76 20 29.5
GMXS25 70 31 50 55 0.5 M8x1.25 35 18 18 76 76 76 86 99 140 181 239 239 Rc1/8 255 35 11.5 Rc1/8 18 40 92 20 355

.




INBISIEE (HEZ&SH) GMXHZEZS Miniature Air Slide Table Linear Guide GMXH Series

. %‘- = T S [R)4HAEE EGuide bearing width 5 7 9 12
fﬁ Z = e {ERFA Fluid =5 Air
(%]
= g EFA Action SUAEFE Double acting
o
® BEEAEN
Minimum operating pressure 0. istt1Pe Do DLEEIIRE
REERED 0.7MPa
Maximum operating pressure
T -10~+70°C
A B
= REFIRARE WREFR: -10~+60c  (ERAE)
=~z Ambient and fluid temperatures Without magnetic switch: =10 to 70°C .
Iﬁ z With magnetic switch: —10 to 60°c (O freezing)
o
—a 2, & 22 J& & Piston speed 50~500mm/s
® e FVF 8L J
AIIowabIZ kinetic energy (J) 0023 0.025 0.05 0.1
*Ei8 Lubrication ZREE Non-lube
*34 =) = e .
ﬁtg&j Evﬁimg(, ETLE%EZ:@E%*EJE.’ %,lliion HIH TR AR ZE M Rubber bumper on both ends
*E=N 1 b o B 1
'H&o *B‘/&ilﬁlgmﬂi, ﬂﬁﬁf?*ﬁru\mw &ﬂ:%o gi*EFFQhE(Tm) +1.0
=4 *EJ'MEEit_E;ﬁﬁilw troke length tolerance 0
23 s BT X 152 E$6% D-AI] EFBFE D-MI]
o} ﬂﬁﬁ?éw'&ﬁ*o Magnetic switch(Option) Reed Magnetic switch D-A9[] Solid state Magnetic switch D-M9[]
2 o R TR R A A 4 ) EEEEOR
g T B PR R A B i IRl M5x 0.8
g *j—cﬁjﬁﬁjgc_;mxu,%ﬁljﬂ’g/\{m “NHEB BEREFISHSOVG32,
*Install linear guide bearing to improve the accuracy of *Please use turbine No.1 oil ISOVG32 if need.
non-rotative of piston rod
Fo *Standard built-in magnetic ring,can install magnetic switch ?imlﬁﬂ*iﬁﬁ
B Of stroke testing A Stroke/magnetic switch selection
2ﬂ§ Can connect to air from three sides » E— o
e *Can install magnetic switch from two sides k=S TREATRE (mm) BEETENHUERFX
= *Standard rubber buffer at both ends (mm) Standard stroke (mm) |  Direct mount type of magnetic switch
o
*Allowable torque is 6 times of GMXU series 6 2 £ 2-wire 3% 3-wire
ﬂ%ii‘ﬁiﬁ 10 5,10,15,20,25, | D-M9B D-MON  D-M9P
i - | D-M9BL | D-MONL D-MOPL
Model representation methods 16 30,40,50,60 DMOBY | DNy D-MOPY
HWE#AE GMXH | 10 | B} | 30 | } | A93 | | | “o0 | D-M9BVL | D-MONVL D-M9PVL
% > Builtin magnetic ring type GMXH - -
- 3 B MRS SIS RNRY, EY
s 142 FRESHRE, WESELKEES: XicS-0.5m,
| — .
e Bore 1772 BHEFR M L-3m.Z-5m, {1 :A93L .
mﬁﬂ:*%ﬁke Numberofmagnetic swiches Note)The specification and characteristics of magnetic switch
Magnetic swig — FEsNi| 24 can refer to the series of magnetic switch . At the end of
TR IS the model of magnetic switch,the length mark of
xS N"|Wlfthourmagneticswitch e Eonduclto;i;?’al_ttached:Nomark—O.Sm,L-3m,Z-5m
= . BAE xample: . N
- ) * S/ee the right table AN=EEESR
%; ‘ Bt /In Canconnectto air from 3 sides
f= N
=t INBIL P SR . e
=z S &M EasINEE H /Out Extend nozzle
. Miniature linear guide bearing \
% improve the accuracy of linear /
motion of cylinder
D >
Extend nozzle e
. . At i
B 2 RIFB/Application othsides
[a]
g T
o Parallel distributor Ag 162??%5 Retract nozzle
3 THE= FLEMER
g Workpiece transport Pinhole positioner
3 RARSRE
3 Suitable vacuum cup
3

N CRG



INBIEMmEEe (BEZ&S4H) GMXHZEZS Miniature Air Slide Table Linear Guide GMXH Series

GMXH6 GMXH10 TR
S,
LT LT *Z(—?
mg
— 1%]
T —y s © & o © 0o ®© [ B
2 I - . 77\ =y 2| = - - - - g
—& ) Q — o — ®
TC o o Q00
8 LA LB \J\_ M3 x 0.5
R6.5 1 LA LB J-M4 x 0.7
Depth 6.5 w8 F 2
Depth 8 o
= SRR 7 i H
| Guide bearing width 7 - %
SHMFE 5 2M5x0.8 >
M Guide bearing width 5 © M —
55 @ 7 6
Depth 5.5 ~ Depth 6
| 2-M5 x 0.8 ' A
| 4-M3x0.5 @ S5
~ R4.8 mm b RO
% H - IlDepth 4.8 Lﬂ -] - E c
P" | [a]
'¢ o| o —=re -(} H {‘ ~
© ™| ® | (\ I5¢] I 9
g : & S g
? : Q
i = 3
T : n 4-M4x 0.7 ©
ep . © ;E [
16 10.5 a3
VEES
He
)
3-M5x 0.8 ez
s Cylinder port
3-M4 x 0.7 1BFLD 4.3 Yl p
E?Lﬁx 3.3 gﬁif‘%ﬁ Pilot hole dia #4.3 LW"\;hSF;'(l;Qa f:; Eort)
i di ! 6- @ 7.5 FLiE 4.4 - -
Pgm@hoéeﬁ";ﬁiz 3 (With plug for port) 6-07.5 coun’teﬂ? (l)JrlgzepthAA
6-06 courl\terbo’rzi‘le th3.3 4-M5x0.8x4L - /_=\‘ >
w0 © = _
2 N | \ - #z
—T— — BJO
Eche]
o & & o 4 it
2 - - - - [ee]
e $ ) s
© :
E w | [ ©
[t H
[t} : © <
5.5 10 : 5 © % 3
4 NS i 7.5 NS 12.5 T
8.5 31 +1752 Stroke i 11.5 35 +{THg Stroke % 2
39.5 + {7F& Stroke : 46.5 + {THE Stroke g_
: c
: 0
i 12 5 + 4332 Stroke 4-M4 x 0.7
: w6
: Depth 6 I}ﬁ >
10 5 + 472 Stroke 4-M3x0.5 i o d #3
4.8 : H Py &
Depth 4.8 : ™ _]_ -— - - - 9
— : -~ <
e ] ¢ 1 s o © 2
H—o ° E E
- H o
: E}
h 13
H =1
i @
R% Dimensions (mm) i RY% Dimensions (mm)
BIE (Model) {7#EStroke J LA LB LT NS [ BIE (Model) {T#EStroke  J LA LB LT NS
GMXH6-5Z 5 4 10 - 42 14 H GMXH10-5Z 5 4 10 - 49 14
GMXH6-10Z 10 4 10 - 42 14 GMXH10-10Z 10 4 10 - 49 14
GMXH6-15Z 15 4 20 - 52 24 : GMXH10-15Z 15 4 20 - 59 24
GMXH6-20Z 20 4 20 - 52 24 : GMXH10-20Z 20 4 20 - 59 24
GMXH6-25Z 25 4 30 - 62 30 GMXH10-25Z 25 4 30 - 69 30
GMXH6-30Z 30 4 30 - 62 30 GMXH10-30Z 30 4 30 - 69 30
GMXH6-40Z 40 6 20 20 72 45 GMXH10-40Z 40 6 20 20 79 45
GMXH6-50Z 50 6 2.5 25 82 55 GMXH10-50Z 50 6 25 25 89 55
GMXH6-60Z 60 6 30 30 92 60 GMXH10-60Z 60 6 30 30 99 60

.




NBIEmBE (BEZ%SEH) GMXHZEZ Miniature Air Slide Table Linear Guide GMXH Series

Ao GMXH16 GMXH20
o
ZE T LT
e
82 6 © o0 0 o |
it
c — A4
g & 3 o OO [ -l (-
<| © - - [s2] N
AN| «— . A
o o o DD [ © o o O O
J-M4x0.7 J-M5x0.8
we 14 LA LB S0 | 1A 8 Foe
2 Depth 9 i Depth 9.5
15 z ;
Hy 4-M5x0.8 SEHAEE 12
= 4-M4x0.7 =11 Guide bearing width 12
o fm10 SEHE 9
S:ar;toh 10 Guide bearing width 9 Depth 11 2-M5x0.8
I
4-M4x07 2M5 % 0.8 © 4-M5x08
) &R 6 I & R 8
. I Depth6 Depth 8
'H&Q ¢ | —‘7Zm
#a 38 ? g 3 D 0-©
2 8|3 N B NG
Q © &) . /\
2 ) 8 N ” 3 @ ]
® H
2 e T o A0 ﬁ@
r H 1 L
' | > O-&
o H o 20 © \Y ~
+ o 16 © 17 o
95 =] 32 20
=k 25
gE
g p
o 3-M6 x 1.0 éﬁlﬁ:lﬂ@%t
3508 g W05 S P ot
BALO 4.3 Cyl'lnderport Pilot hole dia @5.1 4-M5x0.8x4L
Pilot hole dia o4.3 (With plug for port) 6.0,93 M8 XX
6- @ 7.5 nFLiR 4.4 4-M5x0.8x4L 6-09.3 counterbore depth 8
6-@7.5 counterboredepth 4.4
: -D.I |
o o} | P
e MY &
BUD A
2 e L
_ —_— 0
& Hi N < '_ﬂ - - [
o) %) 5—( el
o % | i
0 0 © > © ~
w © H
Hs 5 : 6
EEE 10 NS 12,5 i 1 NS 15
c H I~
ﬁ 3 14 42 + {3/ Stroke i 15.5 52.5 + {378 Stroke
< i
8_ 56 + {THE Stroke : 68 + {THE Stroke
c H
B H
12 10 + 47H2 Stroke 4-M4 x 0.7 : 15 10 +4378 stroke 4- 2r;/ls x 0.8
B z iR 6 H IIDepth 8
o Depth 6 :
14: 3 E y/ar) d
s © f4 ; S 2
< H
T L e A N
3 & H - A
3 hd © H v @
> i
o .
3 H
a i
R~% Dimensions (mm) : R<% Dimensions (mm)
BIE (Model) {7#&stroke ) LA LB LT NS BIE (Model) {7FEStroke  J LA LB LT NS
GMXH16-5Z 5 4 10 - 58 20 H GMXH20-5Z 5 4 10 - 64 20
GMXH16-10Z 10 4 10 - 58 20 H GMXH20-10Z 10 4 10 - 64 20
GMXH16-15Z 15 4 20 - 68 30 H GMXH20-15Z 15 4 20 - 74 25
GMXH16-20Z 20 4 20 - 68 30 H GMXH20-20Z 20 4 20 = 74 25
GMXH16-25Z 25 4 30 - 78 40 : GMXH20-257 25 4 30 - 84 40
GMXH16-30Z 30 4 30 - 78 40 : GMXH20-30Z 30 4 30 - 84 40
GMXH16-40Z 40 6 20 20 88 50 : GMXH20-40Z 40 6 20 20 94 50
GMXH16-50Z 50 6 25 25 98 60 : GMXH20-50Z 50 6 25 25 104 70
GMXH16-60Z 60 6 30 30 108 60 : GMXH20-60Z 60 6 30 30 114 70

o



JKOFE Sprue Gripper
AUKFERBEEM R, EERNIME, HFHhiE

PEAAIEIRIR R EFICRGE R, %{3’
Main body being made of high-strength Aluminium, light weight, strong rigidity and long life cycle. %MZ
Using threaded components or CRG's components when to assemble. €§§
&
IKOEEGR(S/M/L/X)RF (FtERkes) ’
Series GR-Sprue Gripper (Without Sensor)
%4
Z|S
Elﬂ
-
: é_ j o
£ j —
™ ; 3 - = & e /
& e - - / 5
o . 4 e i, o
£y e }ﬁ’;
| & b 2 @ al
@ GRS08 i GRM12A & GRL12A
xQ
B
ar B\
KOKEGR(S/M/L/XRF (HEmE) he
Series GR -Sprue Gripper (With Sensor) ®
1
- Mz
B3
12
9 Bs
- GRS08-CN(CP) GRM12A-CN(CP) GRL12A-CN(CP) GRX20-CN(CP) f'_Eg
‘53
=
Q.
£25(PN) EE(Model) =S FFA(Switch type) BN A (F) =& (Weight) 5
8.Y00214 GRS08 - 5N 189
8.Y00099 GRS08-C - 5N 24g
8.Y00011 GRS08-CN NPN 5N 409 .
8.Y00012 GRS08-CP PNP 5N 409 ﬂ};g
8.Y00103 GRM12A - 28N 469 g
8.Y00092 GRM12A-C - 28N 45g <
8.Y00009 GRM12A-CN NPN 28N 60g S
8.Y00010 GRM12A-CP PNP 28N 60g 3
8.Y00107 GRM12B - 28N 469 ]
8.Y00106 GRM12B-C - 28N 45g @
8.Y00104 GRM12B-CN NPN 28N 60g
8.Y00105 GRM12B-CP PNP 28N 60g
8.Y00108 GRL12A - 45N 949
8.Y00100 GRL12A-C - 45N 84g
8.Y00001 GRL12A-CN NPN 45N 100g
8.Y00002 GRL12A-CP PNP 45N 1009
8.Y00213 GRX20 - 80N 180g
8.Y00215 GRX20-C - 80N 1779
8.Y00013 GRX20-CN NPN 80N 1929
8.Y00014 GRX20-CP PNP 80N 192g

c=G



KO3k EH Sprue Gripper

i=FAsLf / Application example

By
=
I GR [M] [12] [B] - [C][N]
& [ —
= —
& ek
Switch type
NPNFFx
RY PNPFx
Size .
%7 C-a[%FFk
2 Being able to mount a switch
B BRER Fo- AT
_H% Dimension JeL KA No - Not being able to mount
® Jaw Types a switch
wo  TH I/ Installation method
]
Q
g
%2
E-E
gE
e
5z RAl— wHI=
ng'J"EZ Application 1 Application 2
Eche]
J]e
FEfiR/4 / Accessorier selection
Fx
Sensor FFRES(PN) A5 (Model)
%g ;m& 7.Y00800 PNP
%5 \ @ ' 7.Y00801 NPN
k< \ e
2 @ RPN
% \ Note: The lengthis 1 meter
8 FFR$EZUBA/Switch wiring instructions
Q NPNmEﬂ / NPN output type PNPmﬁﬂ/ PNP output type
3 . .
§ Input and output circruit diagrams Input and output circruit diagrams
@ — D1 | /((B?E@))+V — | /((g%@))w
E =< . rown E _ : rown
BB ) 2
D2 (FRE) f (E1) +| 24vDC Tr 4 100mA MAX. 24V DC
% T (Black) Output (Marked 1) - 110 % 5 =10 o
r _-- _1500 |Hj $1 o - Oo
§ "LZ 100mA MAX. n§> D2 (é%:g%ft%ut(hfarke()ﬂ) E 1
o A 4D @EE) OV H D1 &) 0V {Load)
g | (Blue) g » Blue) .
= | L= |

PIERER B —O—> SMEBEERE A

Internal circruit External connection example

(GEL): BREREErBE, BEREER RIS TR,

(Marked 1)Output is not equipped with short-circuit protection circuit.

Do not connect directly to power or capacitive loads

PIERER B > SMEBEEE A

Internal circruit

(ED): R EIEr R, B EREEBRAS TR,

(Marked 1)Output is not equipped with short-circuit protection circuit.

Do not connect directly to power or capacitive loads

External connection example



KO EGRS08%%! Sprue Gripper GRS08 Series

il
ZE
e
f i ‘E‘“:
& - -
= - 2
& - i
i ' (e
D AL N
[, Diamond tooth £
GRS08 GRS08-CN(CP)
FoIERREE(Without Sensor) THERES(With Sensor)
:H&Q
#]a
2
a
FEaatiR Product Description 5
GRS08%7%1
RAERBEEER, EERRIME, FHK. k2
PR AR ZENCRGBRLE. Az
Series GRS08 e
Main body being made of high-strength Aluminium, light weight, strong rigidity and long life cycle. °
Using threaded components or CRG's components when to assemble.
25 (PN) FIZ(Model) f&Rkz=&(Sensor) #MERSI(F) EE(Weight)
8.Y00214 GRS08 - 5N 189 sx
8.Y00099 GRS08-C - 5N 249 Mz
8.Y00011 GRS08-CN NPN 5N 40g EE§
8.Y00012 GRS08-CP PNP 5N 40g 25
21 21 6.60
.2-8.4 4 4
— é Bs
“H3
[ i
A N B
( { N i °
o | o
b ||
T 3-M3 " U T 3-M3 ) ?E:Tg
PanY Pan} 3
N ol hd o <
e
o
o o 2
E
Eg M3-@4 :E M3- @4
C 12 | 2 C 12 ] 4
18
FTIERES(Without Sensor) HERES(With Sensor)

.




KOFZEGRM12&%I Sprue Gripper GRM12 Series

il
ZE
me
g9 .
/
&
- (PNP)
%,;,; » o (ﬁ 3 (NPN)
Re Jp— e
=) Ash A BRI
= ADiamond tooth BHelical tooth
GRM12A GRM12A-CN(CP)
FAERLEE(Without Sensor) HIEREE(With Sensor)
'H&KE)
e
2
5 FER#ER Product Description
GRM12&5%l
*xQ AUNERBEEYE, EERNME, FhK
%‘; EERAERIBRLENCRGIBRRE.
= [e] .
He Series GRM12
® Main body being made of high-strength Aluminium , light weight, strong rigidity and long life cycle.
Using threaded components or CRG's components when to assemble.
£8S(PN) 215 (Model) {&R%&&(Sensor) HMEXAI(F) EE(Weight)
=x 8.Y00103 GRM12A = 28N 469
éj]‘_% 8.Y00107 GRM12B - 28N 469
%§ 8.Y00092 GRM12A-C = 28N 45g
7% 8.¥00009 GRM12A-CN NPN 28N 60g
8.Y00010 GRM12A-CP PNP 28N 60g
8.Y00106 GRM12B-C - 28N 459
8.Y00104 GRM12B-CN NPN 28N 60g
a5 8.Y00105 GRM12B-CP PNP 28N 60g
%&Z 31 31.50
9 658;3212 6 0-16 -
a - o s
[o} o
I 1L 0
'#Fg o o I 22 /_\
8 24 — o ol
o 2 1 N o " 1 N
3 o 9 o o @ ol
-8 7 N 3-M4 ©) N 3-M4
N\’ .
& o o L =
®'12' Ms- P4 Ig @I | M5- P4 Lé:
16 =
26 26
FT(EREE(Without Sensor) H1ERLEE(With Sensor)

e CRG



KOFEGRL12Z&%| Sprue Gripper GRL12 Series

AT
ZE
e
g
(PNP)
(NPN)
S Z 2
- %S
' (e
sEH 65
Diamond tooth £
GRL12A GRL12A-CN(CP)
FAEREE(Without Sensor) & REE(With Sensor)
'H&Q
#]a
2
F=ERiEiA Product Description E
GRL12&7%! °
RAEREEET R, EEENME, Fails
ARG IR N L KA ICRGEN M & FQ
Series GRL12 %%
Main body being made of high-strength Aluminium, light weight, strong rigidity and long life cycle. e
Using threaded components or CRG's components when to assemble. ®
=S (PN) 5 (Model) {&RE&&(Sensor) BN AI(F) EE(Weight)
8.Y00108 GRL12A - 45N 94g
8.Y00100 GRL12A-C - 45N 84g 5z
8.Y00001 GRL12A-CN NPN 45N 1009 Hz
8.Y00002 GRL12A-CP PNP 45N 1009 %%
41 41
0.3-17.50 8 8
— E E§
“H3
u fiz
p— Q.
A N A N s
4| |° o2
oy o ( oy o A |
g 3-M5 ;_: i”qt-:rﬁ
g v g —/ 2
9 A 9 _ Q 8
A
© ©f o
3
E I g
! Ms-Pa M5- P4 £
D12 o D12 o o
25 25
39 39
FT(EREE(Without Sensor) H{EREE(With Sensor)

.



KOFZEGRX20&%! Sprue Gripper GRX20 Series

i
ZE ‘ . .
il i }
g9 }, .
8 (PNP)
(NPN)
%7 ~
H s 7
< Diamond tooth 4
GRX20 GRX20-CN(CP)
FTAEREEE(Without Sensor) HIEREE(With Sensor)
.|~;&(E)
e
2
2 TFEmiA Product Description
* GRX20%3!
KEERBEEER, EERRIME, FHiK,
*Q PR A RN LR MCRGEP R R E.
%2 Series GRX20
Z:pé Main body being made of high-strength Aluminium, light weight, strong rigidity and long life cycle.
® Using threaded components or CRG's components when to assemble.
S(PN) E5(Model) {&Rk=&(Sensor) HMER(F) EE(Weight)
8.Y00213 GRX20 - 80N 180g
=2 8.Y00215 GRX20-C - 80N 1779
Mz 8.Y00013 GRX20-CN NPN 80N 192¢g
%(}; 8.Y00014 GRX20-CP PNP 80N 192g
53.5
10
0.7-30 10
| T
BS
5‘-‘2% —a
#H3 ]
14:?_ | M6 A D '—ix 3-M6 A B
® (e} 0O -
s C’/ I O e)/() ]
ik g 5 8 ()
- ¥ <
B 2 o i ~ =
e o -
g Q
) == &
% i M5-94 ? ?
2 920 220 il M5- P4
=4 20
b 32 @20
42 32
42

oy CRG

FoEREEE(Without Sensor)

H{ERKEE(With Sensor)



KOFZEGRO5Z%%!] Sprue Gripper GRO5 Series

18
0-11 3

B3y | FhE

agnL SNS . 3|1401d

53.60
(o]
(OO
o

2-¢2.60

37.50
B e o
S|NPOA SIUdIS

8,950, 6

6

Mg*1 .5 ; | M3 #S0

T M3 Inlet port

GRO5A-10 10
FERLEE(Without Sensor)

S SR

J9bueyd )dInd

S
a|npo\ diug

55(PN) 2S5 (Model) {&R%&(Sensor) MENAI(F) EE(Weight)
8.Y00348 GRO5A-10 - 12N 9.69

ham 2 2001

JaddiN 11y

RS

3|NPOIN wWnNNdep

~
F=

syusuodwo?) A10ss830y

.



KOFEGR12Z&%] Sprue Gripper GR12 Series
| © 1 = — 3
By BIBRRAE GRAZ[A]-12 -[C]IN] ...
,ﬂé} Model representation methods Swit;:h type
=G NPNFF3
z REER PNPFF%
& Dimension
C-AI%EFF X
ek A Being able to mount a switch
Jaw Types 52 Fo-REEFFR
o BoJr:e No - Not being able to mount
pas itch
B AEREEEME, ERENNE, 56 aswite
A3 PR AR R FICRGE M B 4.
5 Main body being made of high-strength Aluminium , light weight, strong rigidity and long life cycle.
Using threaded components or CRG's components when to assemble.
o /
#]a Q -
Q /¥
% y
*xQ
E-E
HE
e GR10A-12 GR12B-12 GR12L-12
5 GR12A-12 PaliRA Fle RS
GR12M-12 (N5 Csteel jaws) (Without Sensor) (Without Sensor)
T iERLEE(Without Sensor) . .
BB / Accessorier selection
=x
#z
B3 Fx
JI% 1.PNP
) 2.NPN
By FFRES(PN) £S5 (Model)
e GR10A-12-CP GR12B-12-CN(CP) 1.Y07261 MAP-8S2P1/F(PNP)
fx GR12A-12-CN(CP) LgEE 1.Y07405 MAP-8S2N1/F(NPN)
% iR12M—12.‘CN(CP)(%M%UiHDSteteaws) (Wlth Sensor) S
HERLEE(With Sensor) Note: The length is 1 meter
2 (PN) A2 (Model) {&Rk=&(Sensor) HMENI(F) EE(Weight)
8.Y00348 GRO5A-10 - 12N 9.6g9
B2 8.Y00268 GR10A-12 - 28N 44g
8  T8v00267 GR10A-12-CP PNP 28N 70g
3 8.Y00305 GR10A-12-CN NPN 28N 709
g 8.Y00370 GR10D-12 - 28N 429
K 8.Y00369 GR10D-12-CP PNP 28N 61g
§ 8.Y01034 GR10D-12-CN NPN 28N 61g
@ 8.Y00048 GR12A-12 - 28N 449
8.Y00098 GR12A-12-C - 28N 449
8.YO0050 GR12A-12-CP PNP 28N 70g
8.Y00091 GR12A-12-CN NPN 28N 70g
8.Y00245 GR12B-12 - 28N 449
8.Y00260 GR12B-12-C = 28N 449
8.Y00261 GR12B-12-CP PNP 28N 709
8.Y00262 GR12B-12-CN NPN 28N 709
8.Y00307 GR10L-12 - 28N 509
8.Y003 08k steeljans) GR12L-12 - 28N 509
8.Y004 195k steeljans) GR12M-12 - 28N 66.29
8.Y0042 16 steeljans) GR12M-12-CP PNP 28N 82.5g
8.Y00420 GR12M-12-CN NPN 28N 82.5g

B c=c



KOFZEGR10&%] Sprue Gripper GR10 Series

30 A
15
0-16 6 ZE
- 2z
E 0 =
g & S
/ B2, H
[} =}
®s - 4 A K roiz ai
. - : Diamond tooth - !Vl s
- 2
o it r
0= =} &l .
=< 16 Eg
GR10A-12 RY > 210 x
FotERBE(Without Sensor) g 2
«Q
xa
Bo
[z
He
I
8 g;
J)2
MAP-8S2P1/F(PNP) -
MAP-8S2N1/F(NPN) Sl g
=
o =g
: L
T Tt <
o5 T8 3 :
s - L £
GR10A-12-CN(CP) ‘\I'f 12(; 210
HERLEE(With Sensor) Jﬁl;fg
ey =I g, = g MT.T?‘?
RE(PN) B E(Model) fERkER(Sensor) #MEX A3 (F) HE(Weight) G2
8.Y00268 GR10A-12 - 28N 449 8
8.Y00267 GR10A-12-CP PNP 28N 709 E\
8.Y00305 GR10A-12-CN NPN 28N 709 Ei
o

.



KOFZEGR10Z&%] Sprue Gripper GR10 Series

e . o455 15
H2 021 d
ze ; ]
= = | 8
g &
, «» ]
%g q‘::f‘vs o] L= % %
me AL s EETS
2H§ ' ot" Helical tooth 2-¢4.2 \_/
c ' »
9 e
,mg 0 16
23 23 27 @10
. GR10D-12 e
8 FoteRkE8(Without Sensor) HE
*e
B
gE
e 21 15
> 0-18.5 | 6
‘ 5 ]
) S
52z :
E ! Q
B3
712 & [5)
MAP-8S2P1/F(PNP) 3 2
MAP-8S2N1/F(NPN) 2.04.2 9
(0X- X%
'S 0
=8
5 -
= £
é’ o 16 .
> ”§’§ 27 610
GR10D-12-CP lleE
H{ERREE(With Sensor) £
z 55(PN) BE(Model) f&R4E&(Sensor) HMENH(F) HE(Weight)
i 8.Y00370 GR10D-12 - 28N 429
g 8.Y00369 GR10D-12-CP PNP 28N 61g
§ 8.Y01034 GR10D-12-CN NPN 28N 61G

=) C=RG



KOFZEGR12Z%%] Sprue Gripper GR12 Series

30 Filh
15
0-16 | 6 ZE
s | S
H 0 c
. : A & g
= L= . h .
{ & Al @ ~
) 2-¢4.2 ( ) =
. Diamond tooth 2-04. 9 Zﬂg_
©
o " &t o
w = 3 ] I
=< 16 Eg
GR12A-12 l?,; 27 12 a
FERLEE(Without Sensor) HE g
Q
%9
B3
HE
e
-
/ .
‘. & 5z
&z
BITO
e
MAP-8S2P1/F (PNP) =
MAP-8S2N1/F (NPN) ©
Sk
BS
) z=2
: :
!-'_.'I.' - Z
Log. /'E: t{ §'
=< o <
GR12A-12-CN(CP) PO 12575 -
HHERES(With Sensor) 131;5.5 )
+ >
HS(PN) BI5(Model) fEkas(Sensor) MENAI(F) E&(Weight) ?Eﬁ
8.Y00048 GR12A-12 - 28N 449 g
8.Y00098 GR12A-12-C - 28N 449 i
8.Y00050 GR12A-12-CP PNP 28N 709 S
8.Y00091 GR12A-12-CN NPN 28N 70g §

c=G



KOFXEGR12Z%%] Sprue Gripper GR12 Series

0-16 5

B3y |, A
aqnL SNS . °|joid

26.5

80.5
39

B 2-94.2
Helical tooth

HEE S A

3|Npo 51U31S

15

SR

J9bueyd ydoInd

Intake air 2-M5
N | =2 r
i
ASY
a
N

GR12B-12
FiERLES(Without Sensor)

S 2-M5

T HE W
a|npo\ diig

26.5

b b2 |

JaddiN 11y

MAP-8S2P1/F (PNP)
MAP-8S2N1/F (NPN)

80.5
39

15

FrisHHm

3|NPOIN wnndep

27 ®»12

Intake air 2-M5

#= 2-M5

GR12B-12-CN(CP)
THERES(With Sensor)

-
=
=

55(PN) EIS5(Model) {&Rk25(Sensor) HMENAI(F) EHE(Weight)
8.Y00245 GR12B-12 - 28N 44q
8.Y00260 GR12B-12-C - 28N 449

8.Y00261 GR12B-12-CP PNP 28N 709
8.Y00262 GR12B-12-CN NPN 28N 709

sjuauodw o) A10ssa20Yy

(LR CRG



KOFZEGR12Z%%] Sprue Gripper GR12 Series

30 24.50 B D
016 20 M;:
2
g
o 1 =}
“l3 =2
2-¢4.2 (u) iﬂg

© Lt L
w3 T & £l ®me
GR12L-12 E‘g 16 }ﬁ%
ToiEREE(Without Sensor) rs 27 oA 5
M E g
%9
5S(PN) BS(Model) fE=%E&(Sensor) BN AI(F) BEE(Weight) E‘;
8.Y00307 GR10L-12 210 = 28N 509 fgg
8.Y00308 GR12L-12 @12 - 28N 50g 5

| 34.50 ]
0-22
g2
Hz
o 53
/ © 712
/ /
% [} ; %
)
.{ﬁﬁ‘; 8 o)

® Y © HS
- 4 Z=2
rS @ / S V=E!
l e
N = =

//:6 ]

GR12N-12 EE oA
FToiEREE(Without Sensor) & ® 27 TES
Ir g e
W= a
°
55 (PN) BS(Model) A f&R%25(Sensor) HMEXA3(F) EE(Weight) g
8.Y01011 GR10N-12 210 - 28N 42g 3
8.Y01012 GR12N-12 212 - 28N 429 z

Cc=G



KOFZEGR12Z%%] Sprue Gripper GR12 Series

E 30 15
M’% 0-16 6
B i
= = 0 [ |
g &
m, H
g o
%’2 MHIEHO N 2-¢4.2 ( )
gﬁg_ Steel jaw — \_J
©
PR s iy
' = 3 =
Eg =9 16
= GR12M-12 J}‘g 27 ®12
g FoAEREEE(Without Sensor) 3 £
«Q
%2
E-E
gz
He
5z &
#z .
3
e
Siye MAP-852P1/F (PNP) o
@ 7 MAP-8S2N1/F (NPN) gl 8
P ”
. ") 7
zs2 2
" h “
= [ Lriy
: ST o =]
E §(& Lt s
GR12M-12-CN(CP) e 5 012
#&REE(With Sensor) 5s
i
e
8
o
3 HE(PN) BE(Model) fEREE(Sensor) HMEXA3(F) E&(Weight)
3 8.Y00419s#isectjons) GR12M-12 - 28N 66.29
Z 8.Y0042 16usitinseeljons) GR12M-12-CP PNP 28N 82.5g
8.Y004206 i e ) GR12M-12-CN NPN 28N 25

Ikl CRG



KOFEGR20Z%! Sprue Gripper GR20 Series
1. MMRERBEEE, EERNIME, Fhik.

AT
2 BER AR EACRGE MBI, ZE:
3. GREFIKORTMEEFR AR, BESFHKOMRE, g
& n
1. Main body being made of high-strength Aluminium, light weight, strong rigidity and long life cycle. B
o
2.Using threaded components or CRG's components when to assemble. °
3. GR series of sprue gripper can choose different types of jaws to satisfy the clamping of various sprue gate.
%g
EE
Elﬂ
» _ &3
/
o A
® &
v y s
' 2
«
GR20A-20 GR20B-20 GR20D-20 GR20C-20 %o
FAERE FAEREE TAE RS TAE RS B
(Without Sensor) (Without Sensor) (Without Sensor) (Without Sensor) éﬁ §
e
) ' 52
o "B
S
gl Zh
BS
“H3
=
GR20A-20-CN(CP) GR20B-20-CN(CP) GR20D-20-CN(CP) GR20E-20 e
LS GRS GRS FAEREER o
(With Sensor) (With Sensor) (With Sensor) (Without Sensor)
4 >
HE(PN) W E(Model) fE/E(Senson) R A(F) EE(Weight) e
8.Y00224 GR20A-20 = 80N 1129 2
8.Y00049 GR20A-20-C - 80N 118g s
8.Y00226 GR20A-20-CP PNP 80N 1379 3
8.Y00051 GR20A-20-CN NPN 80N 1379 §
8.Y00234 GR20B-20 - 80N 1129 3
8.Y00231 GR20B-20-C - 80N 1189
8.Y00232 GR20B-20-CP PNP 80N 1379
8.Y00233 GR20B-20-CN NPN 80N 1379
8.Y00342 GR20C-20 - 80N 1409
8.Y00343 GR20D-20 - 80N 1499
152=-8.Y00442 GR20D-20-CP PNP 80N 173.1g
= 8.Y00479 GR20D-20-CN NPN 80N 173.1g
8.Y00344 GR20E-20 - 80N 1299

.



KOFZEGR20Z%%] Sprue Gripper GR20 Series

1. AAERBEEMY, ERERIMRE, S

D
S 2. BRI AR IR L R FICRGEB MR AL,
me 3. GREFIKOXFTSEFRWSELIAN, HRESHKOMIKE,
= n
= 1. Main body being made of high-strength Aluminium, light weight, strong rigidity and long life cycle.
o
° 2. Using threaded components or CRG's components when to assemble.
3. GR series of sprue gripper can choose different types of jaws to satisfy the clamping of various sprue gate.
3z
s
EV’
Zﬁi £
= o -
® - % L ]
\ |
/ b Y |
Y
*e . ./
e /
#]a y
9
L{gn
%o GR20G-20 GR20H-20 GR201-20 GR20F-20
8o TAE R TAe RS FAe e P
gﬂ § (Without Sensor) (Without Sensor) (Without Sensor) (Without Sensor)
s
5>
1z
S
Jle
BS
#H3
=
e GR20G-20-CN(CP) GR20H-20-CN(CP) GR201-20-CN(CP)
® GRS HERER e RER
(With Sensor) (With Sensor) (With Sensor)
4+ >
% EEEE £12(Model) fEE(Senson) A (F) & (Weight)
2 8.Y00345 GR20F-20 - 80N 128g
S 8.Y00433 GR20G-20 - 80N 131.1g
E] 8.Y00472 GR20G-20-CP PNP 80N 153.7g
§ 8.Y00473 GR20G-20-CN NPN 80N 153.7g
3 8.Y00422 (imsecins)  GR20H-20 - 80N 193.1g
’ 8.Y00424 (il Dsecljavs)  GR20OH-20-CP PNP 80N 220.5g
8.Y00423 (si0seeians)  GR20H-20-CN NPN 80N 220.5g
8.Y00450(mﬂmusleeljaws GRZOI—ZO - 80N 191 69
8.Y00470 sk Nsteelians)  GR201-20-CP PNP 80N 219g
8.Y00471 @kinseclaws)  GR201-20-CN NPN 8ON 2199

Cc=G



KOFZEGR20Z%%] Sprue Gripper GR20 Series

37

TR
25 %‘%
2 12 0-24 %Né
F | — & &5
= = o
Lo ) )
. ’ —
L= Eel @
S y oAl | %8
| \ ¥ ialohs (—) 17 2 ;éa'
\/ \ Diamond tooth 50 iﬁ§
BB MR N T SRS, =
RS IRAERES T i ®
The four screws on the bottom o e}
are loose for ventilate conveniently omo © g
when they leaving the factory [fol= &
1 - 3
g% G1/ o
GR20A-20 420 B Tﬁ%
FoiER%E8(Without Sensor) |M17*1| 2
35 t‘.i';
%2
_E_'B
He
49 {CF %
i - 25 0-24
i : ]
3 2
o BE
MAP-8S2P1/F (PNP) / \ 72
MAP-8S2N1/F (NPN)
) .
17
REBI MR AT RS,
IR ATIRS. il Hs
The four screws on the bottom = i f"E 5
are loose for ventilate convenient! 4 b c
when they leaving the factory g o™ = o - g éﬁ 3
« 0= ~ H=
o :
s %
GR20A-20-CN(CP) e |
Py ) H | [
(& BE8(With Sensor) ®20 -
% 2
2 (PN) IS (Model) {ER4ESE(Sensor) 4MEXJ3(F) EE(Weight) ﬁ:%
8.Y00224 GR20A-20 - 80N 1129 i
8.Y00049 GR20A-20-C - 80N 1189 S
8.Y00226 GR20A-20-CP PNP 80N 1379 3
8.Y00051 GR20A-20-CN NPN 80N 137¢g ‘3

.



KOFEGR20Z&%] Sprue Gripper GR20 Series

1 © 37
% S 25
N 12 -
ﬂg | 0-24
B
> g
o© 15
/
o 2\
A S
4 i ( I
2Hg Helical tooth ¢'/@’€i9‘
< J R MBL N T EES, —
B HARIATS. ) (=
The four screws on the bottom = = 7o)
‘ y are loose for ventilate conveniently 23 o 2 E
_, when they leaving the factory &
- 23
Hme Ir g 17
i S HE
X GR20B-20 ®20
E;’ FTAEREE(Without Sensor) MA7*1
Q
8 35
%
B3
HE
a
e 49
i - 25 0-24
5z ’
#z a
BE o
k: MAP-852P1/F (PNP) =\
MAP-8S2N1/F(NPN)
) .
AT MRL K T R 2
ERER I NRLL .
BS HITRRMEIRTS. /p_ef)_
=a The four screws on the bottom pa =
- é are loose for ventilate conveniently B EZ,’
%gé when they leaving the factory g-,) - g
S "’E q
2 . F “
GR20B-20-CN(CP) gg K
HIERER(With S ©®20 ! |
& RE8(With Sensor) 171
B 2 35
#% KS(PN) &S (Model) fERkg&(Sensor) HMERA(F) EE(Weight)
~(<'; 8.Y00234 GR20B-20 - 80N 1129
S 8.Y00231 GR20B-20-C - 80N 1189
3 8.Y00232 GR20B-20-CP PNP 80N 1379
§ 8.Y00233 GR20B-20-CN NPN 80N 1379

kr) CRG



KOFEGR20ZE%] Sprue Gripper GR20 Series

25 45.5

AT
12 1-22.5 S
CE
) me
P
3 g
r£ N
1) il [ \ xw
< 152
— - z
17 Ha
c
Q0 &
R MR T T EES, o
H R AIAERES. =y fus
The four screws on the bottom . E /E: g
are loose for ventilate conveniently N © (] &
when they leaving the factory 0=
— 3 e
N =
Ir g e
H e G1/ o)
®20 M17*1 g
GR20C-20 ; ; é
ToiE=%E8(Without Sensor) 35 8
40
23
1 *xe
Bo
20° HE
ﬁ e
©
~
~
© W ©

e
ham 2 2001

123.80
JaddiN 11y

17.5
ke
e_

of H

c{li EEE

i EE

- L =

G1/ g_

5S(PN) BE(Model) f&%e&(Sensor) B AI(F) HE(Weight) >
8.Y00342 GR20C-20 = 80N 1409

(o

%3

8

A

o

3

el

S

.



B3y |, A

3qnL SNS . 3|1404d

HEE A 0t

3|NPOIA SIUdIS

SR

J9bueyd ydoInd

T HE W
a|npo\ diig

b b2 |

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Yy

141

KOFEGR20%%] Sprue Gripper GR20 Series

GR20D-20

JREBONMBL N T HERS,
HITRAMREIIRES.

The four screws on the bottom
are loose for ventilate conveniently

when they leaving the factory

FAEREE(Without Sensor)

HIT RS RIREIRE.

MAP-8S2P1/F (PNP)
MAP-8S2N1/F (NPN)

[RERIUANREL N TSRS,

The four screws on the bottom
are loose for ventilate conveniently

when they leaving the factory

GR20D-20-CN(CP)

12

25
‘c’
)
0
@20

30

44

0-37

56

J

17

4
=4

)

2-M5

144

Intake air 2-M5

#R 2-M5

G1/
M17*1

T T
35

56

¢

p

|

BEA2xM5 41

2xM5

141.5

&
=y

e i
&8 (With Sensor) 20 e
E(PN) FIE2(Model) {&=%88(Sensor) MBS (F) EE(Weight)
8.Y00343 GR20D-20 = 80N 149¢g
8.Y00442 GR20D-20-CP PNP 80N 173.1g
8.Y00479 GR20D-20-CN NPN 80N 173.1g
CG




KOFZEGR20Z%%] Sprue Gripper GR20 Series

25 . 59 Bz
! 12 2544 ] M%
’ — i
o N &
) “3 N @
1 © N %
! y g
(%]
FESRIUNB LR T A, o =2
BT IARIIRES, o Hg
y y The four screws on the bottom 17 - =
'? | f tilat ientl ®
s - when they leaving the factory oL
LE; /ér g
GR20E-20 2 02 « o
FoiERES(Without Sensor) Eg o
- re o
HE G1/ 5
* «Q
320 | mi7-1) 8
35
&2 (PN) AE(Model) fE/ig8(Sensor) STEH(F) & #f(Weight) X2
8.Y00344 GR20E-20 - 80N 1299 By
He
o
Silicone 25 37
12 0-21
. o #z
| BITO
® 8 ik
O
ey, —\
he =
=
FREBIAMBL AT B, o 17 = Zg
TR ARIARAS. o} B3
The four screws on the bottom /o 1 H=z
are loose for ventilate conveniently o s 9
when they leaving the factory e | »~t2 =
) b 0 [0}
GR20F-20 N
Ire
TotE=kE8(Without Sensor) - e i
20 ?Eg
g
35 <
&
£55(PN) #(Model) f&/ig(Sensor) ERA(F) &H(Weight) 3
8.Y00345 GR20F-20 - 80N 128g §

.



B3y |, A

2qnL SNS . 3|!40id

HEE S A

3|NPOA SIUdIS

SR

J9bueyd ydoInd

T HE W
a|npo\ diig

b b2 |

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Yy

143

KOFEGR20Z%! Sprue Gripper GR20 Series

[REBIU MR N T RS,

B AHARIIRTS.

The four screws on the bottom

are loose for ventilate conveniently
when they leaving the factory

GR20G-20
FoiEREEE(Without Sensor)

MAP-8S2P1/F (PNP)
MAP-8S2N1/F (NPN)

FRER MR AT 5 EES,
TR AMREIRTS.
The four screws on the bottom
. y are loose for ventilate conveniently
4 when they leaving the factory

GR20G-20-CN(CP)

33

@20

33

38

0-24

30

HA2xM

2xM5

118

30
)
e

118

2xM5

@20
HEREE(With Sensor)
£E(PN) FIE2(Model) {E%88(Sensor) MBS (F) EE(Weight)
8.Y00433 GR20G-20 = 80N 131.1g
8.Y00472 GR20G-20-CP PNP 80N 153.7g
8.Y00473 GR20G-20-CN NPN 80N 153.7g
CG



KOFZEGR20Z%%] Sprue Gripper GR20 Series

37

1
25 %‘%
b 12 » 7
®i - — 0-24 i@é
- L o o =g
\d g o\ /o g
W n —
() —)
i\ /) %
#a s
SO (L)) B E 23
Steel jaw © gﬁ z
EEI MR R T EES, pad g
TR IRARRE. vy i ®
The four screws on the bottom jor] e} o
are loose for ventilate conveniently ) S
when they leaving the factory © [te} g. ~
- zs
Q'
I G1/ RO
2 e
GR20H-20 @20 2
Fot&mEs(Without Sensor) - g
35 g
%9
_E_'B
T [
Steel jaw He
J p
——WHERL 25 0-24
Steel probe
52
° Bz
o o %g'
Ia) o
AP-8S2P1/F (PNP) F.'@) \
MAP-8S2N1/F (NPN) 2
17 =
AR MBEL N T IS, <P Z= 02
H R AR, . £ﬁ§
The four screws on the bottom 'E_ é ZL.F =
are loose for ventilate conveniently - b 0 °
when they leaving the factory 8 e §. g'
] < - "
Ne
GR20H-20-CN(CP) L3 |5
THIEREE(With Sensor) »20 .
M17*1 TES
35 e
o
£S(PN) A S(Model) {ER%EE(Sensor) HMENAI(F) E=E(Weight) <
8.Y00422 GR#IHD) GR20H-20 - 80N 193.1g E
8.Y00424 ¢milH)  GR20H-20-CP PNP 80N 220.5g §
8.Y00423 Nt  GR20H-20-CN NPN 80N 220.5g 3

.



B3y |, A

2qnL SNS . 3|!40id

HEE S A

3|NPOA SIUdIS

SR

J9bueyd ydoInd

T HE W
a|npo\ diig

b b2 |

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-
=
=

sjuauodw o) A10ssa20Yy

145

KOFLEGR20E75!

Sprue Gripper GR20 Series

37
25
r- 12 0-24
- —
9 i O O
“ ©) O
/l — O ‘%
=) =)
I (L)) N
Steel jaw | |
BRI MR AT S ERES, ¢/@ s
T REAMEIRES. pamam, s
The four screws on the bottom E :-t:-f
are loose for ventilate conveniently ® g
when they leaving the factory el g(% &
| - 3%
Ire G1/
HE
GR201-20 ©20
FoER%E8(Without Sensor) |M17*1
35
IO
Steel jaw
| 49
— | IRk
Steel probe 25 0-24
>. o
= O
® O
N o
MAP-852P1/F (PNP) ﬁ
MAP-8S2N1/F (NPN) o
Q p , 17
-
¢ 724
FRERI MR AT 5 EES, =y i
gs RS ERE. - = e
=N y The four screws on the bottom ) w0
‘\ are loose for ventilate convenientl 0= 2:
“‘ when they leaving the factory ’ - E % N
GR201-20-CN(CP) gé G/
& RER(With Sensor ®20 | |
e RER( ) 171
35
£E(PN) EE2(Model) {ER%E8(Sensor) MESI(F) HE(Weight)
8.Y00450 ¢msl#HE)  GR20I1-20 - 80N 191.69
8.Y00470 ¢msiti)  GR201-20-CP PNP 80N 219.1¢g
8.Y00471 ¢m#lsH)  GR201-20-CN NPN 80N 219.1g

C=G




KOFEGRA20%% Sprue Gripper GRA20 Series

1. WaptEa#EFE (-NO).

23
2. FAEERR T HEERBHXEN. ms
3. AEAVEENEIT. gé
2
4. TR RS g
1. Double acting or spring open (-NO).
2. Very high gripping force related to the weight and dimensions.
3. Different options for fastening. %?
4. Optional magnetic sensors. N I%%
SMBU9-M10 Te
Rre
23
2
%9
B3
HE
e
GRA20A GRA20A-CN(CP) GRA20C-CN(CP) ?
FoAE R e Rk e Rk
(Without Sensor) (With Sensor) (With Sensor)

S
Jaddin 41y

£25(PN) A S(Model) f&RiER(Sensor) #MERF(F) EE(Weight)
8.Y00391 GRA20A - 80N 1109
8.Y00392 GRA20A-CP PNP 80N 1159
8.Y00393 GRA20A-CN NPN 80N 1159 Es
8.Y00434 GRA20C-CP PNP 80N 135¢g =g
8.Y00435 GRA20C-CN NPN 80N 135g 43
{¢§
(o
2
g
2
o
3
T
E

.



KOFZEGRA20%%I Sprue Gripper GRA20 Series

E 38 25
S 0-30 12
2
g9
g
3
777& g 8 %:tilation connection
=0 : M5 (x2)
s I ol 2xms ”
§ o} &
30 5
45
RO 45
Tﬁ% GRA20A
z ToIEREE(Without Sensor) 2]
3 &
A (=]
\ 2xM5
*Q
E-E
53
e
° 44.50
31 25
1027 13
5z §
, r
78 < \ ” HJ
Mo (NPN |1 %8
D-M9N (NPN) % G ;%?tiil%}fonconnection
3 2xM5 L MSea)
BHS o o ——
zZs 2 Q &
48 3
= 30 5
% 45
GRA20A-CN(CP) A7.50
HERES(With Sensor)
B & m [3)
53 N
8 ]
71 \ 2xM5
o
E
S
Z £2(PN) FE(Model) {EREEE(Sensor) IMBXA(F) =2 (Weight)
8.Y00391 GRA20A - 80N 110g
8.Y00392 GRA20A-CP PNP 80N 115g
8.Y00393 GRA20A-CN NPN 80N 115g

vy CRG



KOFZEGRA20Z&%] Sprue Gripper GRA20 Series

44
0-30

B3y | FhE

d9qnL SNS - 31404d

D-M9P (PNP)

D-M9N (NPN) Pl

Ventilation connection

M5 (x2)

S R

S|NPOA SIUdIS

2xM5

8
44.50
[+]
@ n
o ®

30
45

S SR

J9bueyd )dInd

GRA20C-CN(CP) 48
HEREE(With Sensor) 1

25

e uinpiley
a|npo\ diug

£35S (PN) & S5(Model) fERka5(Sensor) MERAI(F) E&(Weight)
8.Y00434 GRA20C-CP PNP 80N 135g
8.Y00435 GRA20C-CN NPN 80N 135g

ham 2 2001

JaddiN 11y

RS

3|NPOIN wWnNNdep

~
F=

syusuodwo?) A10ss830y

.



KOFEGRT20%&%! Sprue Gripper GRT20 Series

1. AAERBEEEE, ERERIMR, FhiK.

ity
M2 2 ERNESERORETICRGEREE.
R 3. GRRFIKAKANEEARARAIFMIK, #HESHKORISKE,
s n
= g_' 1. Main body being made of high-strength Aluminium, light weight, strong rigidity and long life cycle.
" 2. Using threaded components or CRG's components when to assemble.
3. GR series of sprue gripper can choose different types of jaws to satisfy the clamping of various sprue gate.
%z
B
Bz j
£ i
o b/ '
2 ”
#]a y
9 o~ V/ {
° ?’ ) ; 3
N
;%Q
5% GRT20A GRT20B GRT20C GRT20E
4 g_ Tt Rkag FAC kR FAC kR T Rkag
ﬁ:% (Without Sensor) (Without Sensor) (Without Sensor) (Without Sensor)
=z y
5% o
Eéj% .:/ 5 !
718 v
e \\;’
BS Es
#H3
fz
g GRT20A-CN(CP) GRT20B-CN(CP) GRT20D GRT20E-CN(CP)
° HIERER HIERER Tl REER HIERER
(With Sensor) (With Sensor) (Without Sensor) (With Sensor)
By & £5(PN) FIE(Model) SSFFX(Switch type) HMENII(F) HE(Weight)
g 8.Y00257 GRT20A - 100N 111g
3 8.Y00252 GRT20A-C - 100N 113g
g 8.Y00258 GRT20A-CN NPN 100N 1309
3 8.Y00259 GRT20A-CP PNP 100N 130g
3 8.Y00279 GRT20B - 100N 162.89
@ 8.Y00280 GRT20B-C - 100N 141.49
8.Y00281 GRT20B-CN NPN 100N 158.4g
8.Y00282 GRT20B-CP PNP 100N 158.49
8.Y00316 GRT20C - 100N 1449
8.Y00317 GRT20D - 100N 160g
8.Y01004 GRT20D-CP PNP 100N 145¢g
8.Y00458 GRT20D-CN NPN 100N 1459
8.Y00318 GRT20E - 100N 161g
8.Y00339 GRT20E-CN NPN 100N 165g
8.Y00340 GRT20E-CP PNP 100N 1659

-



KO EGRT20Z%!I Sprue Gripper GRT20 Series

33

Fidjed
i 0-22.50 i _11 ME_”
i ] 2
<« / g
: .
xZ
L1 U
8 =3
y 5
I~ \/ :
© ,I«*g
18 }ﬁ‘;
GRTZOA ) ‘9 G1/8 M17*1.0 U ©20 U ;;-
FiE =& (Without Sensor) E
%2
E-E
53
43 %g "
0-22 ®
. L
5 —
i
o o 52
=%/ (i 9s
) / MAP-8S2P1/F (PNP) iR
/"" MAP-8S2N1/F (NPN) o @) 7%
| * i
’ 8 \_/
Y 3
£ £
@ “H3
- § i
o 18
GRT20A-CN(CP) 2 818 _| m17*1.0 " 020 |
HIEREE(With Sensor)
M %
2
s
55(PN) BS(Model) {&Re&(Sensor) HMENAI(F) EE&(Weight) §
8.Y00257 GRT20A - 100N 1119 3
8.Y00252 GRT20A-C - 100N 113g 3
8.Y00258 GRT20A-CN NPN 100N 1309 @
8.Y00259 GRT20A-CP PNP 100N 130g

.




B3y |, A

3qnL SNS . 3|1404d

HEE A 0t

3|NPOIA SIUdIS

SR

J9bueyd ydoInd

T HE W
a|npo\ diig

b b2 |

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Yy

151

KOFEGRT20Z%!I Sprue Gripper GRT20 Series

30

Sze

2150 ,

o J

k78

¢]

130

r ‘\, .

3 *
GRT20B 9
FoIEREEE(Without Sensor) G/

MAP-8S2P1/F (PNP)
MAP-8S2N1/F (NPN)

130

T
©
g
h G1/8 . h
GRT20B-CN(CP) M17"1.0 120
HE(ERLSE(With Sensor) 2
£5(PN) BlS(Model) {ER%E8(Sensor) MBS (F) BHE(Weight)
8.Y00279 GRT20B - 100N 162.8g
8.Y00280 GRT20B-C - 100N 141.4g
8.Y00281 GRT20B-CN NPN 100N 158.4g
8.Y00282 GRT20B-CP PNP 100N 158.4g
CcCRG



KOFEEGRT20%%! Sprue Gripper GRT20 Series

B3y | FhE

agnL SNS . 3|1401d

=o

HEE A

S|NPOA SIUdIS

41

@7
%
S

GRT20C
TotERkE8(Without Sensor)

J9bueyd )dInd

%2 (PN) BE(Model) {ERkEE(Sensor) HMENI(F) EE(Weight)
8.Y00316 GRT20C - 100N 1449

S
a|npo\ diug

JaddiN 11y

ham 2 2001

RS

3|NPOIN wWnNNdep

~
F=

syusuodwo?) A10ss830y

Cc=G



KOFEGRT20%&%! Sprue Gripper GRT20 Series

i F
s :
N ili
%:5 Silicone ==
9
% b :
@ /
/ [S]
' ] d
5o /@ [ R NCY, |
Y I
= = y g
Ho y N4
/\\/" pe
'H&KE). :
s i
o
@ GRT20D
TotERLEE(Without Sensor)
%2
E_G
g
He
® 485 25
0-23.5 12
5 O
sz = O
iz ) °
BUO -
L " & () i
fe-aa?ﬁ < o E
MAP-8S2P1/F (PNP) L
MAP-8S2N1/F (NPN)
BS b
48 3 A
= 4
9 (I;?é U 18I
M17X1 ©20
b 2
2
o
< £E(PN) B E(Model) & R%88(Sensor) HMENSI(F) =8(Weight)
g 8.Y00317 GRT20D - 100N 160g
3 8.Y01004 GRT20D-CP PNP 100N 145¢
g 8.Y00458 GRT20D-CN NPN 100N 145¢

LR CRG



KOFEGRT20%&%! Sprue Gripper GRT20 Series

2 Bz
21 12 M:;_”
—_— %m&a
©) %E
© &
o
) ©
J [\’ s
il i
Elﬂ
o 'H&Q
] s
GRT20E o [k [ s | 5
FoIEREE(Without Sensor) M17*1.0 820 :
*Q
B
25 gﬁ‘z
12 mwe
— He
(e}
> o}
¢ 3
o b 52
oz
e B3
MAP-8S2P1/F (PNP) 3 VAR
MAP-8S2N1/F (NPN) 8 ﬂ;
N/
< E§
o #H3
= G1/8 T 18- ®
®M17*1.0 020
GRT20E-CN(CP)
HEREE(With Sensor)
S
2
££5(PN) B E(Model) & R%E&(Sensor) MERSI(F) =& (Weight) 3
8.Y00318 GRT20E - 100N 161g 9
8.Y00339 GRT20E-CN NPN 100N 1659 -g
8.Y00340 GRT20E-CP PNP 100N 1659 H

.




KO EGRP32Z%| Sprue Gripper GRP32 Series

AU D HSTET, XYERINEE, Standard jaws with teeth, Double action function.
M% STEFACRGHIERLEOAT /BN ER G, Fully compatible with CRG's modular EOAT/gripper system.
‘f'lé o IHER202=K, 20mm shaft diameter.
gg =k Requirements:
§ TESJE 6 bar. Working air pressure 6 bar.
EE T ETRES Requires filtered dry air.
=8
o
152
h
'H&KE)
s g
Q - .
3 .
«Q
*£Q GRP32A GRP32B GRP32A-30 GRP32B-30
=23 ol e Tl e ol e Tt aes
%&g_ (Without Sensor) (Without Sensor) (Without Sensor) (Without Sensor)
5>
#z
ms
Jle
‘53
=
% GRP32A-CN(CP) GRP32B-CN(CP) GRP32A-30CN(CP) GRP32B-30CN(CP)
GRS GRS GRS GRIZRE
(With Sensor) (With Sensor) (With Sensor) (With Sensor)
B %
e S (PN) E5(Model) f&/ka(Sensor) Gi=pal() EHE(Weight)
S 8.Y00278 GRP32A - 200N 6049
o 8.Y00462 GRP32A-CP PNP 200N 6589
-g 8.Y00463 GRP32A-CN NPN 200N 6589
3 8.Y00388 GRP32B - 200N 608g
Z 8.Y00466 GRP32B-CP PNP 200N 662.49
8.Y00467 GRP32B-CN NPN 200N 662.49
8.Y00315 GRP32A-30 - 200N 12769
8.Y00464 GRP32A-30CP PNP 200N 1330g
8.Y00465 GRP32A-30CN NPN 200N 1330g
8.Y00387 GRP32B-30 - 200N 12829
8.Y00399 GRP32B-30CP PNP 200N 13369
8.Y00411 GRP32B-30CN NPN 200N 13369

EF CRG



KOFZEGRP32Z% Sprue Gripper GRP32 Series

AR, SERTHEE. Standard jaws with teeth, Double action function.

fitjnd
TERBCRGAYERILEOAT /KBRS, Fully compatible with CRG's modular EOAT/gripper system. S
MER202K, 20mm shaft diameter. %N\ a
Bk Requirements: %E
TVYESE 6 baro Working air pressure 6 bar. %
FEENETIEESS Requires filtered dry air.
=%
|s
H2
2h
e
23
o
[y E]
S
%2
B
|\
GRP32C GRP32A-3020 GRP32B-3020 GRP32C-3020 %g
FoltRues Tl as Tt Ries Tl ReER s
(Without Sensor) (Without Sensor) (Without Sensor) (Without Sensor)
sz
#z
S
J]2
BS
4 B3
5 = #Fg
% &
GRP32C-30 GRP32A-3020CN(CP) GRP32B-3020CN(CP) Mﬁﬁ
A HEE A A 3
(Without Sensor) (With Sensor) (With Sensor) S
&
2
£25(PN) B E(Model) fERIEs(Sensor) ik=pal(3) EE(Weight) s
8.Y00468 GRP32A-3020 - 200N 1600g 2
8.Y00469 GRP32A-3020CP PNP 200N 1654g
8.Y00477 GRP32A-3020CN NPN 200N 1654g
8.Y00478 GRP32B-3020 - 200N 1604g
8.Y00416 GRP32B-3020CP PNP 200N 16589
8.Y00417 GRP32B-3020CN NPN 200N 1658g
8.Y00412 GRP32C - 200N 6149
8.Y00415 GRP32C-30 - 200N 12869
8.Y00418 GRP32C-3020 - 200N 1610g

.



B3y |, A

2qnL SNS . 3|!40id

HEE S A

3|NPOA SIUdIS

SR

J9bueyd ydoInd

T HE W
a|npo\ diig

b b2 |

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Yy

157

KOFEEGRP32K7%

Sprue Gripper GRP32 Series

‘112 34
1 0.7-145
7T —
T 4xM5 —
3 :=' 3
i (o
FHE — i |
Helical tooth o O | 2XG1/8 i| 3 T
© o N
O
- 8
<« JE#EERDG25, 030
A& ES0, 100, 150
Dia can changes to @25, @30
GRP32A Length can changes to 50, 100, 150
FAER%EE(Without Sensor) 25
45
A9
T axms IO \
=6 3 || HH { 3
8.Y00467
Wy AP-852P1/F (PNP) | | v
MAP-8S2N1/F (NPN) 5 | 2xG1/8 I Tl <
' 3 o 3
- ~ (@]
8
° -
<+ FERERR025, 030
A @R ES0, 100, 150
Dia can changes to @25, @30
GRP32A-CN(CP) Length can changes to 50, 100, 150 25
HIEREE(With Sensor)
5S(PN) FS(Model) {&Rz&(Sensor) AEF(F) E&E(Weight)
8.Y00278 GRP32A - 200N 6049
8.Y00462 GRP32A-CP PNP 200N 6589
8.Y00463 GRP32A-CN NPN 200N 6589
C=G




KOFZEGRP32Z% Sprue Gripper GRP32 Series

s
34 7=
19 255 %Ij\ °
0.2-14.5 <
— _|‘ %2
:—-;- axvs ({0 g
3 ily 3
AN L ] i ;g;
Diamond tooth . o 2xG1/8 ) 5 iﬂg
™) c
@) N &
o
L ] o
= RO
<— JE#ERDO25. 030 a5
AIEREKES0, 100, 150 o)
Dia can changes to @25, @30 S
Length can changes to 50, 100, 150 lg
GRP32B 025 )
FiERLEE(Without Sensor)
%9
E_-B
VEES
45 34 {L-F g
1 19, 33 ®
0-135
MAP-8S2P1/F (PNP) ——-;- 5z
MAP-8S2N1/F (NPN) < == | < gjj%
©! [ [ ™ ,:,g
|| < 4 v Zh
|~ 2xG1/8 I
3 8 — Jll ? 3
o B3
£
S 78 3
) = =
<« JE#EHRD25, 030 g
AT E#RES0, 100, 150 >
Dia can changes to @25, @30
Length can changes to 50, 100, 150
GRP32B-CN(CP) 225 N
HERLEE(With Sensor) ﬂgﬁ
£ 2(PN) A= (Model) {ER%E(Sensor) HE&H(F) =& (Weight) E\
8.Y00388 GRP32B - 200N 608g 2
8.Y00466 GRP32B-CP PNP 200N 662.49 %
8.Y00467 GRP32B-CN NPN 200N 622.4g z

.



B3y |, A

3qnL SNS . 3|1404d

HEE e o Xt

3|NPOIA SIUdIS

SR

J9bueyd ydoInd

T HE W
a|npo\ diig

b b2 |

JaddiN 11y

B

3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Yy

159

KO3 EGRP32Z%| Sprue Gripper GRP32 Series

44.50
44.50 45
:I-Zi% 0.7-14.5
3
oMol
r N Q
L 6xM5
&
S [ -
Helical tooth E 4xG18 T b ©
[sp}
4xG1/8 L | S
| =
o
° , 8
<«—— O EEERJ25, 330 =
ATEKRIKES0, 100, 150
Dia can changes to @25, @30
Length can changes to 50, 100, 150 -
GRP32A-30 @25 @25
ToAERkE:(Without Sensor)
. . 45
‘!!’ 33| 0-13.5
I H I -(")- R <
il E alli ©
if i
AP-8S2P1/F (PNP) E ill iH' 6xM5
MAP-8S2N1/F (NPN) [Tl

ﬁ 1]
° °
34| 34| 25|

o
} % 4xG1/8 =
™|
[ - 4xG1/8 5
1] !Du II!:”D:.
i 67 67 °
o
. S
+—JE#HRED25. 330
A E#RES0, 100, 150
Dia can changes to @25, @30 =
Length can changes to 50, 100, 150 25 o025
GRP32A-30CN(CP)
F{EREE(With Sensor)
£55(PN) BES(Model) &=%=&(Sensor) IMELAI(F) EE(Weight)
8.Y00315 GRP32A-30 - 200N 12769
8.Y00464 GRP32A-30CP PNP 200N 13309
8.Y00465 GRP32A-30CN NPN 200N 1330g
=G



KO EGRP32Z%| Sprue Gripper GRP32 Series

44.50 Bz
g H
02145 i@é
) < &z
© g
(el
N O]
° N 6xMm5
&
TaEy 3 @ £
Al gy
Diamond tooth - 4xG1/8 g © Iﬁg
4xG1/8 5 £
o
o
) , e 'H&O
<« O E#RERR025. 030 3 2
ATERIKEES0, 100, 150 ~
Dia can changes to @25, @30 L z
Length can changes to 50, 100, 150 @25 uj}
GRP32B-30 25 0
FE RS (Without Sensor)
%8
E_'c
VEES
s
45 ®
N P 33
) 0-135
uifans T T W/
li i 3 WY
11l 52
1] {{ bk D[ TIB- o(he | s
AP-8S2P1/F (PNP) '0" ili 'H' I Lo N s 53
L[ MAP-8S2N1/F (NPN) E n' oy Jle
O
1 1] | S I
| | 3 I 3
’ { ! I3} o 4xG1/8 iy b @
™
] 4 axciss 5
T_ 1 M T = B
’ I_I|_,J I:lE f'_E c
‘53
67 o
67
| : s
«— JE#HED25. 330 g
B E#RIKES0, 100, 150
Dia can changes to @25, @30 -
Length can changes to 50, 100, 150
P25 @25
GRP32B-30CN(CP) W >
H{E/EE(With Sensor) i
3
EEIE) BES(Model) fEEE(Sensor) HMEXA1(F) & R(Weight) 3
8.Y00387 GRP32B-30 - 200N 1282¢g 3
8.Y00399 GRP32B-30CP PNP 200N 13369 %
8.Y00411 GRP32B-30CN NPN 200N 13369 z

.



B3y |, A

3qnL SNS . 3|1404d

HEE e o Xt

3|NPOIA SIUdIS

S SE

J9bueyd ydoInd

bl
a|npo\ diig

b b2 |

JaddiN 11y

RS
3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Yy

161

KOFEGRP32Z&%! Sprue Gripper GRP32 Series
44.50
T 44.5Q A5
_ 25.
A+ + 0.7-14.5
I AN
:E O 1 :m;
o ¢ o “:’1 6xM5
| 6xG1/8 g i -
i = < 3
Helical tooth b= i
< -
3 ° .
o
o ~
6xG1/8 S
67 - 67 ]
S
<« IJE#ERJT25. 330 -
A E#KES0, 100, 150 ]
Length can changes ta 50, 100, 150 925 25
GRP32A-3020
FERLEE(Without Sensor)
44.5Q
44.50 A
_ 0-135
| j i
1 W\ 3
K 5 D! )g m‘_
AP-852P1/F (PNP) 0 G o 2 uts
MAP-8S2N1/F (NPN) I 5 I o
| 6xG1/8 O] <l
® b o i
o
< - 6xG1/8
g <
e}
] [
b 67 67 o
<« O EERJ25, 330 3
ATE#RKES0, 100, 150
Dia can changes to @25, @30
Length can changes to 50, 100, 150 ad
GRP32A-3020CN(CP) @25 @25
HERES(With Sensor)
5S(PN) 45 (Model) f&R%25(Sensor) & 7(F) EE(Weight)
8.Y00468 GRP32A-3020 - 200N 1600g
8.Y00469 GRP32A-3020CP PNP 200N 16549
8.Y00477 GRP32A-3020CN NPN 200N 16549
CG



KOFEGRP32Z%| Sprue Gripper GRP32 Series
23
44.50 =
45 >
44.5( Y i@g
i 02-145 =
i rf s
] /A K
N (YaaY)
1 O] 7 N [%?)
0 L o N} 6xM5
O < wn
1 R N ;ZFJ
AT | 6xG1/8 o i - ;Eg.
f Diamond tooth - © b © «:‘ gﬁg
2 s
y-- 3 < - o 3
1] © <
5 il
A 0
Ll oxcle |
: Co— u""’a m| E?
0 a
«—— IERERZO25, 030 &7 &7 o 2
AIE#AES0, 100, 150 =] §
Dia can changes to @25, @30 «Q
Length can changes to 50, 100, 150 2
@25 @25 "
GRP32B-3020
FToiEREE(Without Sensor) £
E-E
HE
44.5( {qt%
44.5Q A5
33
M 0-13.5
o |
1 \ 2 =z
il “’(6 M E’jg
AP-8S2P1/F (PNP) 8 b o : XM5 7%
MAP-8S2N1/F (NPN) 1 R i R
6xG1/8 O} <
— O b o “
©
< - 6xG1/8
3
3 BT
P 453
P - =
] ] I g_
67 P 67 o
(=]
+—— I EREREO25, 030 8
ATERICEES0, 100, 150
Dia can changes to @25, @30 |
Length can changes to 50, 100, 150 I}ﬁf
GRP32B-3020CN(CP) 925 025 e
HERKEE(Without Sensor) 8
[a)
o
HE(PN) A= (Model) fE=%E8(Sensor) HE&A(F) =B (Weight) g
8.Y00478 GRP32B-3020 = 200N 1604g §
8.Y00416 GRP32B-3020CP PNP 200N 16589 7
8.Y00417 GRP32B-3020CN NPN 200N 1658¢g

.




KO3 EGRP32Z%| Sprue Gripper GRP32 Series

T
M% 19, 34
A 25.5
e [T —lo-14
&0 = Vi
H1A 4xMI5 Z ° S
<t N <
© 11 < ™
Zﬁg N o 2xG1/8 } .
e ° o) 8
o
b0 ' g
5 «—— FERERO2S, 030
a A EKES0. 100, 150
> Dia can changes to @25, @30
S Length can changes to 50, 100, 150
A GRP32C 25
FTAEREE(Without Sensor)
%
E-E
ﬁg 44.50
® 44.50 45
25.5
" 0-14
[\ =
5>
7z
%g & exmis
e &
<
<t [sp]
S 4xG1/8 «
®
4xG1/8 DS
BS
#H3
14:?_ = = 2 67 67 (o]
< S
L ]
+—— T[ERERF025. 030
A @R ES0, 100, 150
> Dia can changes to @25, @30
?g[ 2 Length can changes to 50, 100, 150 @25 ®25
g GRP32C-30
< ToiER88(With Sensor)
o
3
3 HS(PN) #5(Model) {&R&g&(Sensor) ASH(F) EE(Weight)
2 8.Y00412 GRP32C - 200N 614g
- 8.Y00415 GRP32C-30 - 200N 12869

IR CRG



KOFEGRP32Z% Sprue Gripper GRP32 Series

<« T E#ER025, @30
AJE#{<ES0, 100, 150

Dia can changes to @25, @30
Length can changes to 50, 100, 150

GRP32C-3020
FiERLEE(Without Sensor)

£S5 (PN) El5(Model)
8.Y00418 GRP32C-3020

{&RE8(Sensor)

44.50

431

6xG1/8

67

@25

HA&H(F)
200N

44.5Q 45

25.

0-14

381

oMol

54

B3y | FhE

d9qnL SNS - 31404d

6xM5

34| 34|25

6xG1/8

134

67 0|

@25

E8(Weight)
1610g

100

S R

S|NPOA SIUdIS

S SR

J9bueyd )dInd

e uinpiley
a|npo\ diug

ham 2 2001

JaddiN 11y

RS

3|NPOIN wWnNNdep

~
F=

syusuodwo?) A10ss830y

.




MRy |, A

3qnL SNS . 3|1404d

HEE e o Xt

3|NPOIA SIUdIS

S SE

J9bueyd ydoInd

T HE W
a|npo\ diig

b b2 |

JaddiN 11y

TG H ot
3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Yy

165

ZAEFTE N Rochu Gripper Introduction

EMFMZATHEZRE, RHE2RFERRMYKRHOEIE, WYEHTEEME.

REREEESEAAMERIR. MR, MBREREZSHER, TEREMIOMENG R, MREBFM, HEEMEER, TSBRGBEM

MENER, HBFREXRENBENESN, MAERSHERY, —MEE, EEFAMKNYE, BRERMEEBRKA,

F i F MTUER T2 ARG MAM S =ER, RAMMAE T TWHBANEATR.

Flexible soft grippers uses the principle of bionics to imitate the action of Octopus tentacle wrapping the captured object, so as to grasp
the objectin a wrapping way.

Traditional fixture often can't provide a successful grasping scheme because of the limitations of object shape, material, grasping
requirements and so on. Flexible soft grippers, made of flexible materials, will not damage the object to be caught. At the same time, due
to its centimeter level adaptive ability, it has high versatility. One claw is omnipotent, suitable for different shapes of objects, and users do
not need to replace the fixture frequently. Flexible soft grippers fills the gap of the End-Of-Arm-Tooling, and greatly expands the

application of industrial robot.

YEIRIE/ Working principle

FEMFMRAS|BEDRA, BIEEHETHR, KIARMEFE/REKANASEHE, MMEIREMESIMERE,
ERESETERERREFFMORENERASHE, KUY FEDERIREME, R EEREYE,

Flexible soft grippers adopt pneumatic drive technology, through positive and negative pressure transform to achieve fingers opening
and closing movement. Then realize flexible gripping or outrigger action. The gripper grab strength is adjusted by air pressure. Then

achieve flexible gripping of different objects while avoiding damage objects.

SRR

Rochu Control Unit

1

Bz 1 BIE EFE
vacuum Pressure Positive pressure
;5
B _.
E’] Finger
rF SKFF LN mn&
Open Release Grab
5 Beak
& LN SKFF
Grab Release Open

FaERASELATRENER2IEENEER, IHERTRESNTRENTIERNRE,; ERNENER
RITBzhEE, URIEFRERASERSRENE, FREASEBESRm RN 8RR,
The working pressure must be kept within a safe range, overload may cause irreversible damage of the finger. It is

recommended to use our "Rochu control unit" to ensure the life time and stability of the soft finger and beak.Please

refer to the product page or packaging mark for the air pressure of the product.

C=RG



&4, /Application

ZUFEOMBMERERETEANMM, SRTNSERIMEWE, EXAREMBNENASRIAASENAREE TR,

ET ATERERARRIE EMEL.
AJLUBTEFHESE, ERHRET
BIkH D ESYIREE.

Smart picking based on artificial

intelligence technology. It can be used

for sorting and logistics packaging
under disorderly stacking and complex
scenes.

BTFaKE. 18, <HRREE
FrREFROIMEY, R ETHTE RS,
LB, BERTET S
&re. HEEIRF.

Itis used for grasping medical consu-
mables such as infusion tube, test tube
and ampoule bottle, as well as bottled
and bagged reagents, including the
production and disinfection of medical
devices.

CRG

fir
o
FIOZRATFSETHE. 0BT, R, BY. B2 BUSSHEL. REFNTRTER. 5%, RESSHILES, BT EE
\ — . — —_ e N . . S » )
VBTFEHNEZNERTETL. *ette. BN, RRBHEEE, MM THIWRMMESREEREHSHTEERNTR, ig&
3
The grasping action of flexible fingers is inspired by the tentacles of octopus, which can wrap the captured object in a soft way, without damaging the E-D—
object or leaving scratches on the surface of the object. And widely used in auto parts, 3C electronics, food, medical, clothing, daily chemical and other
industries. The flexible gripper can be used in assembly, sorting, handling and other industrial occasions, and can also be used in new retail industries
such as vending machines. It has the advantages of high safety, good versatility, simple and convenient installation, and makes up for the vacancy that
the mechanical clamping claw and vacuum cup can not be applied in some occasions. ;JE?
oK
(e
h
=
o
on £ 5 BF
RomEl 3C
Food 3C-electronics
e e s g o
BREMNZETE, BIETFDA ERTREBHUENSEER o
Bmialing, TEEEZMEY K, DURSFNFERERME. B s
CE <A = - 3
A5, AEERTRE. FANE BSIR. BER. IS THA 3
=EEER 1| 57 3= . N ;s
fli@.z%?uu\ G, mERERSE =S5 i, GiEETRE,
PaErNCIEEN
$+ 0
Food safe materials. FDAand EC-1935 Itis used for high-precision plug ég
certification.Used for pick and place of and pull of small electronic parts. ;E‘ §
fruits, dough, candies, pastry and Assembling,sorting, testing and Z’-JF 3
vegetables. packaging of ceramic and plastic o
parts in mobile phone, PCBs,
silicon wafers, optic glasses.
=>
REH ST 3
HE* 1\ a aﬁ-%’
. ° o Echs]
Clothing fabric Automobile E
ERTHHRFRAEMA S EME BFREFET. EBREMA. 5
a2 ERENE, 45 M 1M MRS, s, ETH, 1
BEMEE F—2, teTEF HEATMMEE. SHORFY Hs
Q
B H IR RIE, RS =t
ZH 3
It's suitable for layer grabbing or Used for sorting, transporting,loading and fas §
multi-layer grabbing of knitted and unloading of automobile lamps, metal %
woven fabrics at the same time. When special-shaped parts and appearance °
layer grabbing, only the top layer of parts, especially suitable for small batch
stacked materials can be grabbed, and multi batch flexible production.
and it can also be used for stacking and B =
[a)
handling of stacked pieces. ﬁig
o
<
S
S HEHMEY Ei7Am :
=)L 7 Mon E
. . o . o)
Smart picking Medical Supplies Z




FIEER Finger Module

V5Z% FiEELR / Series-GFM-V5

By —
o
7= ®
- i
e
= g @ Lm
B o
c P e Lf
s -
o
@@ES-AVS I
@4LPN-166 .
w ORMFIF-AST/LST Aol Hmin Hf e
b T @REIRETN-03 Hm
o W
+= N
EEZ =71 we s srokigre | SUEERR Hmax Immi | Empree| mme | Fomme | s | Fecs | aves | sese | Z2THESE (Kpal |
_ﬁg_ Series PN Model HR [mm] ssggmuEgg [Hmin [mmi[ Hm [mm][ Hf [mm] ] Lmmm] | Lfmm] | Wm [mm] [ Wf [mm] [g]
c
0y 4.Y00500 GFM-A3V5 16.5
4.Y00501 GFM-A4V5 27 10 12 17 102 55 83
4.Y00502 GFM-A5V5 43.5 19 16 24.5 116 69 90
58 28 31 24 120 300
4.¥Y10951 GFM-A6V5 72 33 22 39 130 83 97
o 4.¥Y10952 GFM-A7V5 90 39 27 51 144 97 104
}ﬁ% 4.Y10953 GFM-A8V5 109 45 32 64 158 111 111
A 4.Y00503 GFM-B3V5 19 10 6 9 71 31 44
>0
® 4.Y00504 GFM-B4V5 29 13 10 16 82 41.5 48
«Q
) 4.Y00505 GFM-B5V5 40 16 14 24 5 27 92 52 25 1@ 52 120 | 260
4.Y¥10954 GFM-B6V5 53 23 17 30 103 62.5 56
4.¥10955 GFM-B7V5 75 30 21 45 113 73 60
xQ 4.¥10956 GFM-B8V5 98 37 25 61 124 835 64
kel
%g 4.Y00506 GFM-C3V5 10.5 5 1 5.5 53 21 28
Z¢§_ 4.Y00507 GFM-C4V5 20 9 3 11 60 28 28
@ 4.Y00508 GFM-C5V5 27 12 8 15 A qa 67 35 1e 12 29 izm | 228
4.¥10957 GFM-C6V5 42 20 10 22 74 42 30
4.¥10958 GFM-C7V5 63 29 13 34 81 49 31
4.¥10959 GFM-C8V5 80 38 16 42 88 56 32
= . .
5» % FHE Flexible Finger
g’%g BIE3FEL / Model comparison
33T
Jl2
AR C®&
Series-A Series-C
23 R&#{ / Size Parameter
=
283
H=
8
< B
® Series-B L
Lf|
[ > |
l;gﬁ Hmax |~ Hmin Hf }W.‘
a
9
= %51 we e feoeizie | SUEGTR Hmax(mml | Emgme | s o B i858 BE | R2T(ESE Kpa | \[Kpal
Q Series PN Model HR [mm] Hmin [mm] | Hf [mm] Lf [mm] L [mm] Wf [mm] [a]
-§ 1.Y08421 A3 16.5 8 7 8.5
3 1.Y08422 A4 27 10 12 17 55 83 40
3
& 1.Y0842 A5 43:5 19 16 24.5 69 97 47
2 08423 28 24 120 300
1.Y12918 A6 72 33 22 39 83 111 55
1.Y12919 A7 90 39 27 51 97 125 62
1.Y12920 A8 109 45 32 64 111 139 69
1.Y08424 B3 19 10 6 9 31 52 11
1.Y08425 B4 29 13 10 16 42 62 16
1.Y08426 B5 40 16 14 24 21 52 73 18 20 120 260
1.Y12921 B6 53 23 17 30 63 83 24
1.Y12922 B7 75 30 21 45 73 94 28
1.Y12923 B8 98 37 25 61 84 104 32
1.Y08427 c3 10.5 5 1 5.5 21 34 4
1.Y08428 c4 20 9 3 11 28 41 5
1.Y08429 cs 27 12 8 15 14 35 48 12 6 120 220
1.Y12924 cé 42 20 10 22 42 55 7
1.Y12925 c7 63 29 13 34 49 62 7
1.Y12926 cs8 80 38 16 42 56 69 8




ZIxEH Roro Beak Suit
GBS-4B-S01 4:REf4 GBS-4B-S01 4 pieces Beak Suit

failpns
Tk
N [}
KQ2H06-M5A e
ﬁé‘#m
=
- &
: : SASEEER R S
E : 3 Pieces Application: Gripping ;J'E 2
VENT1011-M5 H . jewelry by external bracing *EG'
: : ) e
: T y &
: VFNT1011-M5 \ %
: : Assembling Suit
: -2 : VFNT1011-M5
® e
: i : e
VM27-M5 =RIMEIMNE T B ;3]
g E ~ 3 Pieces Application: Gripping =]
ring by external bracing ‘g
B-4B — XRlx B3
:  B-4B He
Roro Beak * =
:  B-4B
I R : Mk EERIMBETF 5
4 Pieces Application: Gripping
products in Electronic industry
BE BARE BE TR EEE e
(Model) (Maximum Load) (Maximum Working Frequency) (Precision Range) 57.15
BY
4.Y00509 GBS-2B-S01 59 200 times/min 0.1 mm 3:':’8
4.Y00510 GBS-3B-S01 59 200 times/min 0.1 mm
4.Y00511 GBS-4B-S01 59 200 times/min 0.1 mm
Zlx Roro Beak
g3
RN, KBUBE 1-5mm, BERFHLER. SRNDE e
2 pieces Roro Beak Gripping Range: 1-5mm, Application: fibrous, H3
striped small objects ﬁ: s
Q.
1% B-2B i : 5
Roro Beak B-2B J
==/ 18 ca;mie [
5E(PN) 1.Y08430 o)
a=Model) B-28B 33 Bt &
%3
=RF, EKEUBE 7-12mm, ERFIMERMEETRR /M4 3
3 pieces Roro Beak Gripping Range: 7-12mm, Application: gripping IS
small rings by external bracing 3
o
= % B-3B g
Roro Beak B-3B | 71 o
P1198
£S5 (PN) 1.Y08431 i -
= (Model) B-3B
32,9

PR, KECBE 1-5mm, EBRTEE. RN, EBRERE
4 pieces Roro Beak Gripping Range: 1-5mm, Application: spherical,
irregular small objects, the best universality

Z 1% B-4B
Roro Beak B-4B

| N
HEPN) 1.¥08432 ) L5
BE5(Model) B-4B 37

.



B LR %R Slide Mounting Platte

GSMP-Z [ Z&%/GSMP- Multidirection

By -
Ma PRI
L]
, TR A Y N sy
%g }kﬁ/’{k*”%kfgﬁj jJTEZFA:_r-t é . _> é . _>
g ATATFEERIFM]S EZ=EEERFCM] AR %E
(0]
FIERRFMIN&ZxAENVETBHET
Features
2
;J,g% - Different styles according to shape and slot length
Iﬁ% » Can be used for assembly between finger module [FM] and flange connection
—a
5 module [FCM]
« The installation angle and position of finger module [FM] can be adjusted freely Dn min
Dn max
RO
]a
[a}
3
a
]
%2
E_G
HE
e
o
52
iz
BUT
Ec kel
712
GSMP-2S GSMP-3S GSMP-4S GSMP-5S
BS
z=2
ZE
=
2
B
iz
* 2
S GSMP-2L GSMP-3L GSMP-4L GSMP-5L
S
E
E %5 ] me i< miaE | omm g | MEEXEONNM [ o=
g Series PN Model A [mm] B [mm] E [mm] [mm] lal
7.Y01028 GSMP-2S 20 10 4.2 8 40~69 10~37 18.9
XA
7.Y01029 GSMP-2L 45 10 4.2 8 40~119 10~87 25.4
7.Y01030 GSMP-3S 15 10 4.2 10 58~82 28~50 42.4
7.Y01031 GSMP-3L 50 10 4.2 10 58~152 28~120 73.9
7.Y01032 GSMP-4S 22 10 4.2 10 72~104 41~72 52.3
wilg
7.Y01033 GSMP-4L 67 10 4.2 10 72~194 41~162 86.2
7.Y01034 GSMP-5S 23 10 4.2 10 91~112 53~80 94.8
)
7.Y01035 GSMP-5L 78 10 4.2 10 91~222 53~109 179.7

169 = {c)



iPCU 2 =5 IK#N28/ Integrated Passive Control Unit
o FEMRMRMEERHE, KR, B8R, TEHE,

s BENATATHEHSEEE, SEXFARIEEIEBEFIENIK. B
o FHEALBE. CE
o —(AMUEREMRIE SIRIFRE. i@g
- - . . ke iy B
* WMEFH (RH) MEM/OBFES) WHEHEN, BESMIME, PLCRIR, g
= ) o o
o MBRRERRTWSHFIE, SHRESN.
o IPSARRSREIFER, BikiiE:, ERSMESIR, HESRIREDE, <2, BE THREAVREE FREIEECEREIAIL.
e Compact special controller for flexible soft grippers . Small size, light weight, easy installation. % @
e With three adjustable output pressure range, it fully supports the drive from soft beak to enhanced finger. :7&3
e Manual knob pressure regulation. gﬁ%
Q.
e Theintegrated panel integrates digital display and operation button. s
e With manual (button) and automatic (I / O level signal) two control modes, equipped with a variety of mechanical arm, PLC terminal.
e Equipped with mounting block and industrial rail slot, a variety of installation methods.
e |P54 electrical protection grade, waterproof and dustproof, suitable for all kinds of bad working conditions, with intelligent alarm
function, safe and stable, no need to worry about misoperation, the product has passed the EU CE safety certification. Eg
a
g
132 %
/\
$ %9
v o s B3
® QHZ
IHERE frrg:3
Working positive Pressure %
TEEER®
THTESE 141 Working positive pressure regulation
Real Time Working Pressure
SiEO ®10mm ﬁ?
EEiRO NV\ Air Supply ®10mm @%
Port %}3
. —® I{E0 ®10mm
B Working Port ®10mm
Power 24VDC 10W —0
@
c € 2
z=2
3
g
=
o

I{’F%%&/Work Parameter

Parameter Range Parameter Range {L'Fﬁ
ZNREER JF/Rated Voltage 24VDC + 10% HNFEH2 B/ Fuselage Shell ABS g
EMTETNE/Rated power 12W R~J/Size 207x132x141 mm g
I NSIE/Input AirSource  0.45~1.00 Mpa, ii#&E>200 L/min 1$E8/Net Weight 2.0 kg -‘%

-90~60kPa ({EAY) % n/life span 5000 7R g
Outpt i e -90~120kPa (7£4) b=t ontol mode a. Fazd
-90~300kPa (B1Y) b. I/OBFES
BH1PZ: 4%/ Protection Grade Ip54 T {Et&E=z{/Work Mode R (E2IRE)
BS %"% FohEE | BFRE | THER | 2ERIE | BERT | RE5E

Model \| Manual voltage | Electronicvoltage | Wireless remote | Wireless Attitude | Speed adjustment | Safetyair pressure " =
regulation regulator feedback [L/m | n] [ L/m | n]

tERS  iPCU2-SMN  1.Y12927 ° GIp] 200 40

CRG



#2728 Buffer Support

R~ (mm) / Dimensions (mm)

D
ZE
o c
g4
g s >
E TS F
%g P
< il
Hg B
= I
H
o {E(PN) HEE(Model) A(mm) B(mm) C(mm) D(mm) E(mm) F(mm) H(mm) S(mm) E&(Weight)
s 8.Y00241 GSR1421-08 8 14 15 12.5 40 36.75  97.75 21 369
a 8.Y00373 GSR1436-10 10 14 20 15 60 455 139 36.5 549
E 8.Y00329 GSR2026-10 10 20 20 15 50 455 121.5 26 749
s 8.Y00243 GSR2026-12 12 20 20 15 50 455 121.5 26 739
8.Y00330 GSR2051-10 10 20 20 15 84 455 180.5 51 111g
£Q 8.Y00331 GSR2051-12 12 20 20 15 84 455 180.5 51 110g
B
BE
e
® c
LN
[ o —
>
gé RS F
kel
78 %
il g
=
Az . H
< c
QC
ﬁi $95(PN) EE(Model) A(mm) B(mm) C(mm) D(mm) E(mm) F(mm) H(mm) I(mm) J(mm) S(mm) E&(Weight)
2 8.Y00242 GSRT1421-08 8 M14 15 12,5 40 36.75 97.75 29 2.7 21 43g
5 8.Y00332 GSRT2026-10 10 M20 20 15 50 455 1215 39 3.9 26 92g
8.Y00244 GSRT2026-12 12 M20 20 15 50 455 1215 39 3.9 26 91g
8.Y00333 GSRT2051-10 10 M20 20 15 84 455 180.5 39 3.9 51 129g
o 8.Y00334 GSRT2051-12 12 M20 20 15 84 455 180.5 39 3.9 51 1289
53 — ) )
8 JBmFEfI / Application
P
o
E
S
GR12-12-CN GRS08-C
B |
GSR2026-12 GSRT1421-08

VAl CRG




gz 28 Buffer Support

R~ (mm) / Dimensions (mm)

L
17788

i=AsLf / Application $D A

GFR14-95G

W —

T

GSP-2014 %

@F
?G

B3y | FhE

3qnL SNS . 3|l404d

HEE A

S|NPOA SIUdIS

S SR

J9bueyd )dInd

S
a|npo\ diug

ham 2 2001

JaddiN 11y

RS

3|NPOIN wWnNNdep

5S(PN) E5(Model) A 17718S EE(Weight)

8.Y00238 GSP20-14 14 31 20 20 30 10 13 25 77.5 28 15 57¢g
8.Y00239 GSP20-20 20 33 23 20 30 10 13 25 77.5 28 15 659

~
F=

8.Y01032 GSP30-30 30 43 33 30 30 18 22 25 77.5 28 15 1089

syusuodwo?) A10ss830y

.




EEEIE8 Mould Positioner

R~ (mm)/ Dimensions (mm)

B
i =
me
e =
g ¢ l B P @
g O
(S
%g A s
=
h
o K5(PN)  ES(Model) H BAYEN  EE(Weight)
8.Y00408 GMP14A 38 14 M12*1 = 12 5 4 214 211 M5 90N 629
8.Y00088 GMP20A 46 25 M17*1 19 18 10 9 @20 @155 G1/8 190N 789
8.Y00089 GMP30A 75 38 M27*1 28 27 11 10 @30 @255 G1/8 280N 303g
®re
#]a =
: |
§ : < ) 7 ‘
] ‘ o] 9
Q
—] B [ ] BH
[z E(PN) #S(Model) A B C D) ¥5 = (Precision) EE(Weight)
e 7.Y00968 GMP14B 15 M4 (EorM3iik) - 15.5h7 +0.015 469
® 7.YO0726 GMP20B 33 M6 (5korM5;Tk) 10 26h7 +0.015 879
7.YO0789 GMP30B 43.5 M8 (skorM6;Tk) 11 40h7 +0.015 2649
. " L
=z [ -
Pz . ‘TR
w3 .
7]s T }
.
o 1
5 (PN) BEE(Model) L E&(Weight)
%; 7.Y00894 GLU20A 35 26 5 @19.92 @20 550 850 21 M8 @12 ©@8.20 @11 61g
TE
gﬂg 002
14:2 ~0.06 AA
: =3t
o 17 G
<
Bﬁf L |4 E
%3 € -
3 RE(PN) ES(Model) A B C D 3 F [ H EE(Weight)
§ 7.Y00895 GLU20B 26 5 219.92 @20 M8 211 15.50 10.50 429
el
o
3 =LA / Application
@ GMHS3-25D
o P —_—
Mold PEP2525
\ \QC-G%
GMP20B
GMP20A
SMBY20-100

Ve CRG



&5 (GNEZF) Pneumatic Needle Gripper(Series GN)

fir
E
L)
1%}
30 136.50 ig_;&
25 12, |-
- o, g
e S \ o©
( .\“ Z.H _¢_ '¢_¢_
- \ - ¥
= 22 % A
- - @Y
8 ol * 23
\ N (e
= éH§
] c
o
|
GN2010 —] I
4%t Pins 020 o
<.
]a
30 (@)
>
5
°
%2
E-E
: us /S
1 45 140.5 <%
2= - S 8 | i ﬁ:‘:_
- 1778S (]
"‘(//- RIZEE ’&* ~ J,\'\X: stroke s
Ny
. Y 8 2
L] -
C
52
2 #z
o - ks
b= ke
GN2010-8
8%t Pins
®20
o 2o : <
Q ] B3
LE
= 3= N “H3
H=
33.50 g
=
o
ZATARETUNESMEN, CTRATRA. SREWARNRHEEN,
WEREREKETRET, BEULREEPEXRES IFFREHKE. W >
Being used for embedding and taking out nonwoven fabric, net cloth and sponge.The length of the steel 1 §
needle can be not only adjustable, butalso customized according to the requirements of the customer. §
<
HES(PN) g
E5(Model) GN2010 GN2010-8 3
R BidiE, B8/ KEBREEEES S
Medium Filtered, lubricated / non lubricated compressed air g
= @
EnEHE 3 ~8bar
Pressure range
BESBE 10° ~ 70 °C.
Temperature range
6 barEA LA 90N
Opening total gripping force at 6 bar
FHIR{TES 0~10mm
Needle stroke s
ERESERER 35 cm?
Cycle air consumption
E=k s
Weight 2749 3179

CRG !



&5 (GNEZF) Pneumatic Needle Gripper(Series GN)

30
- 25 1124 136.5 !
B3 o,
ZE R '
o X“‘: 2
% 0
= L 1
3 FLHRE ML7xD) B
Detachable (M17x1) teeth
51
@
o &
@
2% B 7
!
1= 2
s
c
® GN2010-S51
4%t Pins = R
o
<. 30,
s " )
S -\ I-(» yrhs
E o "
2 @l = :
. - - o ) ©
,{ ~ / %3 i
Fo I SR QN7 9
E_-a' [ Detachable (M17x1) teeth
\E o
s 3
o
GN2010-S21
4%t Pins )
520
52
Hz 34
%g 45 '[iirﬁf%s 140.5 ,
Jj f_13 . : c=c 4 stroke s
’# 03 \ \
- o\ oy o
% - = ~ ~ g ° o
L] - A 5
ATYRE Q17X 1 22 2,
M 19 Detachable (M17x1) teeth s
Hs | . .
e o :
A3 < A
frs 5
Q
j=
o
GN2010-8S51
8%t Pins E=
©20 B — o
By & e N ==
3 SRFREFUOTHHEN, ARTRG. SRSWAORLTEN, {QH
S WETBHKETRT, BaULMRBEEFERESIFFIREKE. a=
& Being used for embedding and taking out nonwoven fabric, net cloth and sponge.The length of the steel 850
-g needle can be notonly adjustable, butalso customized according to the requirements of the customer.
2 8.Y00341 8.Y00440 8.Y00385
@ #5(Model) GN2010-S51 GN2010-S21 GN2010-8S51
R BidiE, B8R/ KDBEEREES
Medium Filtered, lubricated / non lubricated compressed air
EEE 3~ 5bar
Pressure range
N=| K3
RESBE -10° ~ 70 °C.
Temperature range
6 barEA FHFF RIS 90N
Opening total gripping force at 6 bar
EHR1TRES 0~10mm
Needle stroke s
?E%?Eﬁﬁéjﬁi ; 35¢em3
Cycle air consumption
240g 2209 4809

%/ig ht
.



S&15T3E (GNZEZ%) Pneumatic Needle Gripper(Series GN)

fir
o
82 7=
33 30 i “0\@5 N
° [%)
4 A I \)5 i@ S
B =
- ~ f=y
@« g
(G ~@y
8
S o =
2 = o= N 25
~ | o
pal= et
(=) L1ER ) 7'5‘- ;’
/ g % Wi Zﬁ 2
ZH o
n %
o
24 012 21
@30
GN3003-4
4%t Pins o s o
]a
(@)
3
84.5 2
o
SRTRETINLTHHEN, BTATRA. SHREMERNEREEEN. %o
MEREHKERRET, BULUREEFEREFIFRIREHSE. B<
Being used for embedding and taking out nonwoven fabric, net cloth and sponge.The length of the steel H §>
needle can be notonly adjustable, butalso customized according to the requirements of the customer. 3 %
£5(PN) 8.Y01005
#E(Model) GN3003-4
NR B, B8R/ KEBEERES
Medium Filtered, lubricated / non lubricated compressed air
Vab = >
injj?ﬁgl 3 ~8bar ﬁ 2
ressure range oz
IRESEE . R B3
Temperature range S = TUSE: 712
6 barEAFHIFF KIS 90IN
Opening total gripping force at 6 bar
EHIR1TRES 0~10mm
Needle stroke s
?E%Eﬁiﬁﬁi ; 3.5cm3 =
Cycle air consumption Z=2
Weight H=z
o
g
o
M2
e
o
<
0
o
3
el
S
2

C=G



5%PK28 Bulging Device

F
7= g! = ] N
N0 SRTABIE
'fgé Model representation methods GBD D
A
g
HEFTE
Actuation direction
g D-mF
;Ji,g';'; bgzKRT_]' D - Downward
B - - e chiEiB7L U-mt
By = = EARES =L Middle through hole U -Upward
£ y Body Diameter
N 2 BT,
u a 1B EZ B &R 9 BT B RE AR AR 6l B
o SRR EIM18 Bl 31 mmAE,
Ings . SRZENE.
[a}
535 . Downward movement, or Upward movement.
® - The elastic part can bein Silicone or Rubber.
Grip diameters from 18 to 31 mm.
Several mounting accessories.
3 s,
B o1
7
e 7.7
W
j/J,//
] oK
/r} T HESHE— I hRITF. AIREERTS, SBL SN
52 f17 S~ wEMENSRHES,
i % 7
8y
ﬁ?‘z //1/ Through hole for fastening
: The ...H models have a central through hole. It can be used to blow
compressed air, or to provide vacuum, with the purpose to cool a
GBD...HU part, or to check the leakage.
23 P
=t EEHRE Silicone rubber
‘H3
fiz
£ 1R BB SR PR I B B R B BB IR R
ERRURERSOEETE, BMREKNERED.
ERREelERGRRETIFIEHE, BERETER,
FERBRH IR R B TR I £ A 10075 K.
B %
53 The elastic part can be in blue Silicone, or transparent silicone.
S Silicone can be used over a wider temperature range and assures a longer life time.
P SR ENE R The elastic partin Silicone is available as a spare part and can be replaced,when worn out.
_% Spare elastic part The expected medium life time of the elastic partin Silicone is about 1 million cycles.
o
3 A
@ st
BB HE(Spec.) 218 @22
Blue Silicone o
BS(Model) 18-S1 22-S1
N ~ £E(PN) 4.Y00470 4.Y00471
A BI=(Model) 18-S2 22-S2
EHE;;,{%HQ £E2(PN) 4.Y00472 4.Y00473
. . GBD18U
Transparent EYRKE2(Bulging device
silicone SAkEE(Bulging device) GBD18HD GBD22HU
N : : ~ T-RE B AR IR IR E R BT K5~ 60°C)
BB LT EFISE

T - Operating temperature of the elastic part (5~60°C for the gripper body)

Silicone canbeshipped by customers

C=RG



5% Ake8 Bulging Device

@D

| G, M5
= o [T1 v
{ ] | |
. aC Sl
lﬁn ey
ég S
e @C s
- = fin
;&t ] [
- T = S— - 2B |
BA ?A
GBD...HU GBD...U
*=2(PN) #E(Model) A @B ©C @D F G H ) K L M N O S T =B

8.Y00212 GBD18U 18 24 18 14 55 M12x1 90.5 22 85 315 185 215 13 10 16 7 39.7g

8.Y00058 GBD22HU 24 31.5 213 14 55 M12x1 92 14 13 348 22 26.7 13.7 9 19 8 53.8g

G
?’ (DDI I
b g S .
1©
a _ .
u I
®A
GBD...HD
S (PN) #5(Model) QA OB @C @D OE F (€] H | L M NO P R STV zZ E=E
8.Y00057 GBD18HD 19.5 25 18 14 2.5 5.5 M12x1 70.5 14 16.5 19.5 12 9 M5 M3 16 6 5.3 M5 27.4g

iEFSEH / Application

= 4
v »—
GBD22HU -

J

\7SCF3-40M12 y
“?J—— SMBE2-1450

PEP2525

GBD22HU

SEA-1414L80

C=G

MRss |, X

2qnL SNS . 3|!40id

HEE A

3|Npo 51U31S

S SE

J9bueyd yoInd

e il )y
a|npo\ diug

JaddiN 11y

SimE

FrHEHHm

3|NPOIN Wnndep

-3
B

syuauodw o) A10ss920Y




EARfiRIE (GFZ&K%I) One Finger Angular Pneumatic Grippers (Series GF)

1 ©
%g - B—ZI{E, - Single acting.
) - REHIR, « Built-in magnetic ring.
me
22
g
GFA...-35
Y 8.Y00117 8.Y00118 8.Y00119
a3 A Z(Model) GFA14-35 GFA20-35 GFA30-35
s AR Bidi, RE/ FPRRERES
—a Medium Filtered,lubricated / non lubricated compressed air
® KA fRHIAY
Gripper body Aluminium
ED5BE 2.5 ~ 8 bar
Pressure range
. - BETE A 510
}%g Temperature range =TS,
a AWK 1712 -
n:> @ Stroke
? &g EEL, @10 mm @16 mm @25 mm
Piston bore
6 barfEA) FAIXIHE 26 Ncm 100 Nem 430 Ncm
Fo Closing torque at 6 bar
] EARESHER ; ; .
%5 Cycle air consumption s el 1.24cm 4.56cm
He EE
5 Weight 25¢g 65¢g 2069
NE IR
Built-in magnetic ring "y /Y /Y
5z 5°
#lz 3
B
AR A
« 7\\(;
N
X @
=5 N/
=g 5 2(PN) 8.Y00117 8.Y00118 8.Y00119 Y ’-“—'—‘:‘-'—ﬁf
7 J\?(
A2 mS(Model)  GFA14-35 GFA20-35 GFA30-35 ©
EL A 14 20 30
o B 14 20.5 30
C 10.5 9 12
D 49.5 76.5 111 I
. E 5.5 8 11
e F 13.5 20.2 30.5
g G 45 6 8 o
< H 74 106 153
S | 214 @20 @30 D1
3 J 12 17 27
El K M5 M5 G1/8
’ M M12x1 M17x1 M27x1 1L ] |
L

el CRG



EBRNIRIE (GF&%) One Finger Angular Pneumatic Grippers (Series GF)

« B—Z0{E. - Single acting. %g
- RERIR, + Built-in magnetic ring. &
e
g4
g
GFR...-95
.
FI2(Model) GFR14-95 GFR20-95E GFR30-95 8
R BitiE, SR/ RERREESS zﬁg
Medium Filtered,lubricated / non lubricated compressed air 4 §
KB fAHA ®
Gripper body Aluminium
' EEH 2.5 ~ 8 bar
Pressure range
mESEE o 5
Temperature range SIS, }%g
1712 ® 3
Stroke 9 §
AT @
? Piston bore @10 mm @16 mm @25 mm [}
N 6 barfE) FRIX A 19 Nem 70 Nem 300 Nem
CHE N Closing torque at 6 bar *o
BARESHEE S , , T
_/ Cycle air consumption U S-S el 12.9 cm gﬂ‘g
" e
Weight 259 60g 193g £
WEMR BY aY aY
Built-in magnetic ring
— Eﬁark E{{ Replace8.Y00041
52
I P
A i
7z
QO ,
- © O
HE(PN) 8.Y00042 8.Y00311 8.Y00095 e
#E(Model) GFR14-95 GFR20-95E GFR30-95 O
A 14 20 30 =
B 12 17.5 25 G =e
@ 10.5 9 12 Eg
D 49.5 76.5 111 S
E 5.5 8 11 N
I
F 14 20 29
G 2 2.5 4 o
H 72 103 148 >
| @14 220 @30 {ng
J 12 17 27 g
K M5 M5 G1/8 i
M M12x1 M17x1 M27x1 'l;;l' TT T | §
o1 T .
M @

CRRG



6= e

aqnL SNS . 3|140.d

HEE e o Xt

3|NPOIA SIUBLS

SRS

J9bueyd ydIND

il o
a|npo\ diig

b 2 S0
JaddiN 11y

FHEHbm

3|NPOIA WNNdep

-3
=
e

syuauodw o) A10ssa20y

181

Bk (GF&RSY)

One Finger Angular Pneumatic Grippers (Series GF)

- Bk,
- REWIR,

- Single acting.

* Built-in magnetic ring.

#E(Model)

GFR14-95G

GFR20-95EG

GER...-95G R Bidig, HBE/ KEBREERTS
Medium Filtered,lubricated / non lubricated compressed air
2l KRR RHAY
Silicone qjo Gripper body Aluminium
9O -
5 e 2.5 ~ 8 bar
Pressure range
. s .
L] RESTE -10 ~ 70 °C.
Temperature range
718 °
Stroke 9
iﬁ%?b @10 mm @16 mm @25 mm
Piston bore
6 barfE RIS 19 Nem 70 Nem 300 Ncm
Closing torque at 6 bar
‘fﬁfﬁ%ﬁﬁ% , Tem? 3.52cm* 12.9cm*
ycle air consumption
HE
Weight 369 87¢g 3009
A ERIR
Built-in magnetic ring aY BY BY
#iE 5
ek 1% Replace8.Y00083
B5(Model) SIL-14G SIL-20G SIL-30G
BRI GFR20-95EG
Applicable Products GFR14-95G GFR20-95LG GFR20-955G GFR30-95G
L A
RS (PN) 8.Y00084 8.Y00312 8.Y00096 \z
5 (Model) GFR14-95G GFR20-95EG GFR30-95G CI& @
A 14 20 30 | | o
B 12 17.5 25
C 10.5 9 12 (o I [® [ 0]
D 49.5 76.5 111
E 5.5 8 11
F 14 20 29 0
G 2 2.5 4
H 72 103 148
| 214 @20 @230
J 12 17 27 E o | L
£ = w =1
K M5 M5 G1/8 L m -
L 2.5 2.5 3
M M12x1 M17x1 M27x1
N 11 15 20 R Y
O 32 46 63
P 19 25 37 .
Q 14 20 30
R 19 27.5 40

CRG

E2={(\) 8.Y00084 8.Y00312 8.Y00096

GFR30-95G




EBRNIRIE (GF&%) One Finger Angular Pneumatic Grippers (Series GF)

e
— ; ‘ 7=
- EB—E, - Single acting. @
- NE#IR, * Built-in magnetic ring. G
&S n
S
g
GFR...-95L
EIE(Model) GFR20-95L ;7"32'
NE B, R/ RTRRERSS s
Medium Filtered,lubricated / non lubricated compressed air g
Rk =L °
Gripper body Aluminium
EDeE 2.5 ~ 8 bar
Pressure range
EESEE ° [ o)
' Temperature range -10~70°C. }%i
718 95° Q
ﬂ@g Stroke 3
B, ®
87@17‘0 Piston bore @16 mm
——— O 6 barEATHIXAHE
T& || _El Closing torque at 6 bar AU FQ
= ERESHER s o g3
) . .52¢cm e
Cycle air consumption HS
e
EE 81.4g 3
_/ Weight ’
i ME#IR
Built-in magnetic ring qY
52
iz
1S
<A 7%
X 7'}
©
5S(PN) 8.Y00309 @ 8
B E(Model) GFR20-95L
A 20 m 0 H5
B 40 A5
C 9 =
y o
D 76.5 g
E 8 | o ®
F 42.5 '
G 2.5 G
H 125.5 T B 2
| @20 53
J 17 8
K M5 a} °
M M17x1 3
E
D1 | %H
v L v

(o o)

CRG



6= e

aqnL SNS . 3|140.d

HEE e o Xt

3|NPOIA SIUBLS

SRS

J9bueyd ydIND

il o
a|npo\ diig

b 2 S0
JaddiN 11y

FHEHbm

3|NPOIA WNNdep

-3
=
e

syuauodw o) A10ssa20y

183

Brikis (GFRSY)

One Finger Angular Pneumatic Grippers (Series GF)

- B—afE.
- WEWIR,

€

»Single acting.

* Built-in magnetic ring.

GFR...-95LG

Silicone

21
X

ol 18

FE(Model)
NER

Medium
KA

Gripper body
ESEE
Pressure range
BEEE
Temperature range
718

Stroke

EE-h

Piston bore

6 bar/E/ FRIXFHE
Closing torque at 6 bar

BEARESHEER

Cycle air consumption

BB
Weight

W ERIR

Built-in magnetic ring

S (Model)

EREmR
Applicable Products

HS(PN) 8.Y00310

#E(Model)

GFR20-95LG
20

40
9

76.5

42.5
2.5

125.5
@20

17
M5

2.5
M17x1

15
68.5

25
20

PO VO ZIZE|AR—|[—I6mMmmOION =|>

CRG

50

Bidig, B/ KEBREEES

GFR20-95LG

55(PN) 8.Y00310

Filtered,lubricated / non lubricated compressed air

tRHIE

Aluminium

2.5 ~ 8 bar
-10 ~ 70 °C.
95°
@16 mm
70 Ncm
3.52cm’

104.8g

aY

SIL-20G

55 (PN) 4.Y00485

GFR20-95EG GFR20-95LG GFR20-95SG

L - A »
O O A
] \ < ® @
R (1]
T===<_
~~_ A 4
F——— O
=) s [ _1[o]
(o 11 - — [ e 0
[a]
-ﬁ P Fow] 4 v
M
4
TG - A
@@ >:- JVF:
< R »
< 9 >




EBRNIRIE (GF&%) One Finger Angular Pneumatic Grippers (Series GF)

-
- B—afifF, +Single acting. 7f7.f(‘—p_“
- REIR, * Built-in magnetic ring. G
%m
=
&
GFR...-95S
£5(PN) 8.Y00335 o
#IE2(Model) GFR20-95S %’E;.
NE SR, R/ RTRREEES s
Medium Filtered,lubricated / non lubricated compressed air g
EEH LS °
Gripper body Aluminium
EBE 2.5 ~ 8 bar
Pressure range
mESEE o O
Temperature range QUSS Ei
1772 o al
Stroke = 2
EE, ®
Piston bore @16 mm
© 6 barE FRIXFHE
@ B ='] Closing torque at 6 bar YO NEm %9
CHEN O BIRESHER 352 cm’ E;
Cycle air consumption 2ecm H3
J =8 N #e
Weight J °
R E IR
Built-in magnetic ring "qY
| 5>
iz
BUT
jj"r?
<A
Y
S (PN) 8.Y00335 u_“ © O
5 (Model) GFR20-95S © ©
A 20 mi 4 | | (_; %n:a
B 17.5 | — 55
C 9 G {4:5
D 1115 o le— g
E 8 ®
F 20
G 2.3
H 138 TES
| @20 I A e
J 17 8
K M5 °
L 41 Ei
M M17x1 %
oI5
v

CRG



EARNIRIE (GF&%) One Finger Angular Pneumatic Grippers (Series GF)

B2
E: - . .
e « B—fE. - Single acting.
me s REWIR, « Built-in magnetic ring.
&2
g
o #5(Model) GFR20-955G
28 NE Eitig, IBEE/ REERERES
ﬁg ‘ Medium Filtered,lubricated / non lubricated compressed air
HE Ka Bk $EHIE
= Gripper body Aluminium
EAEE 2.5 ~ 8 bar
Pressure range
L5 -10 ~ 70°C.
Temperature range
re 1752 o
e Stroke 95
0 <
3 :ﬁ%?b @16 mm
a Piston bore
] 6 barENTHXAHAE
Closing torque at 6 bar VLG
P . ER=SERER s 52 e
*xe 2 :I Cycle air consumption :
Bz | . =R 103
f&a / Weight 9
& PERIR =y
Built-in magnetic ring
£5(PN) 4.Y00485
|| IS (Model) SIL-20G
2z &
= 2 = on
g_az Applicable Products GFR20-95EG GFR20-95LG GFR20-95SG
712
T
>+ «—>
HS(PN) 8.Y00336
BZ(Model) GFR20-95SG
23 A 20
BS B 17.5
g ¢ ° (©]
g D 111.5
® E 8
F 20
G 2.3
(RS H 138
3 | @20
8 J 17
5 K M5
3 L 41
% M M17x1
2 N 15
0 46
P 25
Q 20
R 27.5
T 2.5

KE CRG



EARNIRIE (GF&%) One Finger Angular Pneumatic Grippers (Series GF)
b
e . . =
< B—fE, - Single acting. &
- WERIR, « Built-in magnetic ring. G
i
BE(Model) GFS14-90G GFS20-90G GFS30-90G %o
R B, SRR/ REREEES ]
Medium Filtered,lubricated / non lubricated compressed air (o
EE{k aslE H3
Gripper body Aluminium s
EnEE 2.5 ~ 8 bar
Pressure range
L5 -10 ~ 70 °C.
Temperature range
772 ¢ Re
' Stroke 9 s
$ 0
;E.g?l: @10mm @16 mm @25mm 5
Piston bore a
6 bark/) FRIX S 19 Nem 70 Nem 300 Ncm )
Closing torque at 6 bar
BIRESIEFER 3 3 3
© Cycle air consumption @i SeB2 i Uz ég
E% T Z
o Weight 349 839 2969 %_,%8_
P RER g
Built-in magnetic ring qY "Y "Y
5z
iz
s
VAR
55 (PN) 8.Y01001 8.Y01002 8.Y01003 A
BS(Model) GFS14-90G GFS20-90G GFS30-90G
A 8 11 14 ¥ o H2
B 6.7 8.7 13.7 v e
C 10.5 15.5 23.5 Q {4:5
D 49.5 76.4 111 . g
E 5.5 8 11 ®
F 6 17.7 29.2 1
G 2 2.4 4 « - L
H 66.8 100.6 139.2 :H: Bz
I 214 @20 @30 r: e
J 9 13.7 23.7 L | a ;§
K 12 26 26 J o
L 22.5 29.5 66 3
M M12x1 M17x1 M27x1 %
N 8.5 12.4 20 Z
o 4 5 6 2! N \(%
P 10.8 15.2 25.2

CRG




ERNIRIE (GF&%) One Finger Angular Pneumatic Grippers (Series GF)

B2
T - A .
.® < B—afE, - Single acting.
i@g - RERIR, « Built-in magnetic ring.
= (%]
- EI=(Model) GFS20-90SG GFS30-90SG
28 N EitiE, IBEE/ RERERES
1 2 Medium Filtered,lubricated / non lubricated compressed air
Ay KRR fRHIAY
= g Gripper body Aluminium
ENEE 2.5 ~ 8 bar
Pressure range
fxﬁ@ -10 ~ 70 °C.
emperature range
Re 1752 .
Tﬁi Stroke %
0 .
3 EEL @16 mm @25 mm
2 Piston bore
2 6 bar}ij]?ﬂ’ﬂ?%lﬂ?ﬂﬁﬁ 70 Nem 300 Nem
Closing torque at 6 bar
BARESHEFER 3 3
g? Cycle air consumption SR lzden
©
=32 =B
fgg Weight 99g 3129
& A BRI
Built-in magnetic ring qY BY
5z
#z
53
712
A
P
|
£55(PN) 8.Y01030 8.Y01031 - "‘H—’f N °
S (Model) GFS20-90SG GFS30-90SG & Q‘LL | o
23 A 11 14
BS B 8.7 13.7 s
14:5 C 15.5 23.5
g D 112 147 I I
® E 8 11 x —
F 17.7 292 } H
G 2.4 4
"2 H 136.2 184.2 L e
" [ 220 230 J e
8 J 13.7 23.7
5 K 26 26
3 L 29.5 66
% M M17x1 M27x1
z N 12.37 20 C
0 5 6
P 15.2 25.2 o
Q 36 49 o i N H%H
Lwl

Iy CRG



R¥gi%H Finger Gripper Options

£35(PN) 7.Y00778 7.Y00779
A5 (Model) GP1-20 GP1-30
A(mm) @20 @30

B(mm) 30 45

C(mm) 37 65

D(mm) 21 32

E(mm) 33 44

F(mm) 15 20
EFE(Weight) 20g 60g

5 (PN) 7.Y00780 7.Y00781 7.Y00782
A5 (Model) GP2-14 GP2-20 GP2-30
A(mm) @14 @20 @30
B(mm) 24 35 45
C(mm) 19 25 35
D(mm) 12 25 25
E(mm) 11 16 21
F(mm) 6 13 13
G(mm) 3.5 5 5.5
EE(Weight) 5g 149 23g

RS (PN) 7.YO0783 7.YO0700 7.Y00908 7.Y00785
#E5(Model) GP3-14 GP3-20 GP3-20L GP3-30
A(mm) @14 @20 @20 @30
B(mm) 19 25 25 37
C(mm) 19 27.5 50 40
D(mm) 32 46 68.5 63
E(mm) 14 20 20 30
F(mm) 11 15 15 20
H(mm) 8.5 11.5 11.5 141
G(mm) 6 9 9 10
BEE8(Weight) 6g 129 19.89 30g
Silicone  Silicone Silicone POM
£35(PN) 7.Y00786 7.Y00787 7.Y00788
#E(Model) GS-14 GS-20 GS-30
A(mm) @14 @20 @30
B(mm) 18 24 34
C(mm) 30 37 47
D(mm) 8 8 8
E(mm) 2 2 2
E&E(Weight) 149 179 25g

S XK

2qnL SNS . d|140id

S S M

SINPOA SIUdIS

SR

J8bueyd )dind

D
n

&

GP3-20L

A

@l

B

o 6]

ERTSMCRABMFFX,
fUg: D-DIBV,D-M9B

T MK
a|npo diup

ham 2 2000

JaddiN 1y

RS HL

3|NPON wnNndep

-~
=

syusuodwo?)) A10ssad0y

CRG




EATNIAIE (GOZ%) OneFinger Angular Pneumatic Grippers (Series GO)

AT
e
=Y o0
g 8 A3 22°
5
5
1 ,'f
Bz 15 B
H3
e ) ) N
€« QQ R || © 11 V&_[
(3 . o
ol ™ <
N
:r;&g
2 - = e
Q . = -
E M17*1.0 M5S0
2 ' ®20 ' Airintake
GOF20-20-VMQ GOF20-20-NBR N
+ o 40 v
as 3
gHE
He @ ®7.80
) g ~
O OJ
50
s>
g% S (PN) 1= (Model) EE(Weight) fit & iEHeat resistance (in °C)
ﬁg 8.Y00396 GOF20-20-NBR 57.4¢g -20to 80
8.Y00395 GOF20-20-VvMQ 57.4g -40to 160
28
B o=
83 :
s .
s F
2
By & S
2 ]
g
o S
3
3 M17*1.0 M55 0
S T T Airintake
3 020
o 28
GOP20-20-VMQ GOP20-20-NBR N
N
32
£E(PN) B E(Model) EE(Weight) it /& iEHeat resistance (in °C)
8.Y00398 GOP20-20-NBR 509 -20to 80
8.Y00397 GOP20-20-VMQ 509 -40 to 160

CRG



AEAIRL(ERLEE Optional Magnetic Sensors

WMEREE (A1) BEEE LN — P HESICNHREUE. Fit, ERMERSEEN T BRRENTIEMHRZAEIZ T D
BERIE PR IERAIBIRE, M=
AT PO e e
A
The operating position is detected by magnetic proximity sensors = g
(optional) through a magnet placed on the piston. ®
The use of magnetic proximity sensors is to be avoided in the vicinity of large masses of ferromagnetic material
or intense magnetic fields as this may cause detection problems.
The sensors that can be used are: Ho
D-M9N- M9NV X8
_______________ *E"’
1 1A L O DC(+) b7 <
: | N : ES D;rk brown e é
I I ®
: F @5 :
FFXR
> ouTt
| Main, | EBlack
I | sensor I
T i e
I I e
| +———1-O DC() a)
——————————————— 15 Blue %3,_
- N B
D-M9P - M9PV
L ——r—o b X2
I | S Dark brown 2§ §
I
- | e | e
D-M9PV - A !
D-M9B e ! ouT
sensor
- = : @ : ZBlack
s I I
O DC(-) =2
BID
N it
D-M9B - M9BV
:_______________:0 OUT(+)
I | | #Dark brown
I
: EE)is | Es
(O 1.Y00293 el ol Y
?g%(Model) D-MQ I |circuit —K | gﬂg
: sensor@ : ﬁ:%
! ! g_
: rO OUT() 2
_______________ ¥ Blue
£S5 (PN) EI5(Model) FFRRE L(mm) .
1.Y00310 D-M9B NPN B4 cable 0.5m i
1.Y00307 D-M9BL B4 cable 3.0m 3
1.Y02565 D-M9BV NPN EB4i cable 0.5m S
1.Y03843 D-M9BVL EB4i cable 3.0m §
1.YO0311 D-M9N NPN E345 cable 0.5m S
1.Y00295 D-M9NL E34% cable 3.0m 2
1.Y00298 D-MINV NPN FE4% cable 0.5m
1.Y03598 D-MI9NVL EB45 cable 3.0m
1.Y00309 D-M9P EB45 cable 0.5m
PNP
1.Y02301 D-M9PL B4 cable 3.0m
1.Y00296 D-M9PV PNP EB4i cable 0.5m
1.Y02964 D-M9PVL B4 cable 3.0m

CRG



Min Z#3ZE Min Posture Gripper

i + 90° jigk%, +90° rotation.
e « B—afifF, - Single-acting.
N BN EFETESEES RS, - Lifting by compressed air, spring reset.
i@g « SN, - Several mounting accessories.
Eg « A SEHIRL (B RS, » Optional magnetic sensors.
o
w© =
I
A
'H&E
]a
2
H
®
%9
B3
gE =
al
® 25 (Model) GFN20-90 GFN30-90
R iR, EEE / REBEEREES
Medium Filtered,lubricated / non lubricated compressed air
EEE 2 ~ 8 bar 2 ~8 bar
52 Pressure range
3 RESEE o o
%g Temperature range Y= dOHE, plO=TORC.
72 1@?4%)% 90° 90°
Tiltangle
6 barEANTHIEEEHAE
Lift torque at 6 bar 2t el S e
=8
Weight 659 2109
BS
H3
= e R H £R5(PN) 8.Y00094 8.Y00116
% | BE(Model) GFN20-90 GNF30-90
- Wl Q) A @20 @30
B 20 25
A C 20 25
Bt = 'e) D 35.5 46
e ' t S E 54.6 81.5
3 z F 14 19
g \ G 8 11
3 S H 17 M27*1
3 | g | 30.5 37
7 T 5 oo ) 20 30
| ® 9 K 28.5 40
N L 4.5 5.5
D, M B M 8 10
P I N 14.74 18.5
) 83.34 119
o J P 18.5 25
Q 7.6 11
R M5 M5
v — ® S 3.25 3

Ml CRG



ZHARME Posture Set Accessories

+ 90° g%, +90° rotation. _
- B—affF. « Single-acting. e
B EEESMEESARE. « Lifting by compressed air, spring reset. N3
« SRR, «Several mounting accessories. me
« AIERIRL G RES. + Optional magnetic sensors. i
&
2XG1/8 A1
17, / Airintake
DY g aa
BB 3 £z
ll.‘o’ /Sensor mounting slot el zﬁ Z
[e]
-—a
| T[] BE T :
_B¢ 4
.
1 olng|2 0
= - !
1 T L }ﬁi
0
2. z
1 8XM5 A 3
8XM6 B
32 [ 28
%9
_E_'E
24.50 HE
s e
)
S =
N
ASY
M5 3 5z
Airintake ﬁj] =
%S
E
£2S(PN) 8.Y01007
ES(Model) GFT60-90
R g, HBE / REBEEFES =
Medium Filtered,lubricated / non lubricated compressed air z= g
EHsE 2~8b 43
Pressure range 2 {¢§
fRETEE e
Unlock pressure > 3.5 bar >
BESEE .
Temperature range 5~60°C.
R ARE -
Tiltangle Eﬁﬁ
RinfTFEE TS 420 {¢§
End stroke adjustment a ~<9‘
BR=SHER , o
Cycle air consumption 462.cm _%
6 bar EJIFRIRREHE(90° — 0°) 28N S
Lift torque at 6 bar (90° - 0°) (Mu) > AX g
6 bar D TAIREZHE(0° — 90°) 42N o
Drop torque at 6 bar (0° - 90°) (Md) > m
P i =
Allowed load (F) 300N
RVFRISIFE
Allowed moment (Mf) Sl
2k =S
Weight 25209

CRG



	页 27
	页 28
	1: 平行夹
	页 2
	3: Y型夹
	4: 三爪夹
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	1: 水口夹
	页 2
	3: GRS08
	4: GRM12
	5: GRL12
	6: GRX20
	页 7
	8: GR12-12
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	15: GR20-20
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26
	页 27
	页 28
	页 29
	页 30
	页 31
	页 32
	页 33
	页 34
	页 35
	页 36
	页 37
	页 38
	页 39
	页 40
	页 41
	页 42
	页 43
	页 44
	页 45
	页 46
	页 47
	页 48
	页 49
	页 50
	页 51
	页 52
	页 53
	页 54
	页 55
	页 56
	页 57
	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14

